Division	Total Number of	Total Enrollment	Total Enrollment	Receiv	ed an A	Recei	ved a B	Receiv	ved a C	Receiv	/ed a D	Receiv	/ed a F	With	drew		d by 10th ay		P's, I's, or J's
	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Agriculture																			
Summer 2014	24	325	322	194	59.7%	87	26.8%	32	9.8%	8	2.5%	1	0.3%	3	0.9%	0	0.0%	0	0.0%
Fall 2014	55	985	919	377	38.3%	281	28.5%	174	17.7%	63	6.4%	24	2.4%	42	4.3%	24	2.4%	0	0.0%
Spring 2015	63	979	947	474	48.4%	258	26.4%	151	15.4%	54	5.5%	10	1.0%	20	2.0%	12	1.2%	0	0.0%
Total Agriculture FY2015	142	2289	2188	1045	45.7%	626	27.3%	357	15.6%	125	5.5%	35	1.5%	65	2.8%	36	1.6%	0	0.0%
Allied Health	-	-	-													-		-	
Summer 2014	28	443	397	160	36.1%	165	37.2%	54	12.2%	2	0.5%	5	1.1%	30	6.8%	16	3.6%	11	2.5%
Fall 2014	65	1104	981	366	33.2%	374	33.9%	209	18.9%	17	1.5%	15	1.4%	69	6.3%	54	4.9%	0	0.0%
Spring 2015	66	1094	995	365	33.4%	335	30.6%	220	20.1%	32	2.9%	41	3.7%	81	7.4%	18	1.6%	2	0.2%
Total AHD FY2015	159	2641	2373	891	33.7%	874	33.1%	483	18.3%	51	1.9%	61	2.3%	180	6.8%	88	3.3%	13	0.5%
Business	1	1	1	r				1									T		
Summer 2014	38	477	403	170	35.6%	115	24.1%	76	15.9%	16	3.4%	24	5.0%	42	8.8%	32	6.7%	2	0.4%
Fall 2014	154	2400	1926	732	30.5%	557	23.2%	362	15.1%	156	6.5%	108	4.5%	322	13.4%	152	6.3%	11	0.5%
Spring 2015 Total Business FY2015	146 338	2079 4956	1729 4058	682	32.8%	478	23.0%	325 763	15.6%	123 295	5.9% 6.0%	111 243	5.3% 4.9%	272 636	13.1% 12.8%	78 262	3.8% 5.3%	10 23	0.5% 0.5%
Humanities	338	4950	4058	1584	32.0%	1150	23.2%	/63	15.4%	295	0.0%	243	4.9%	030	12.0%	202	0.3%	23	0.5%
	47	(50	510	005	01 50/	1.41	01 70/	05	14 (0)	25	2.00/	47	7 10/	05	14.707	40	((0(0	0.0%
Summer 2014 Fall 2014	47 159	650 3270	512 2433	205 765	31.5% 23.4%	141	21.7% 25.1%	95 495	14.6%	25 126	3.8% 3.9%	46	7.1% 6.9%	95 588	14.6%	43 249	6.6% 7.6%	0	0.0%
Spring 2015	159	3270 2490	2433 1865	639	23.4% 25.7%	821 580	25.1%	495 367	15.1% 14.7%	126 98	3.9% 3.9%	225 179	6.9% 7.2%	426	18.0% 17.1%	249 199	7.6%	2	0.0% 0.1%
Total Humanities FY2015	332	2490 6410	4810	1609	25.7% 25.1%	1542	23.3% 24.1%	367 957	14.7%	249	3.9%	450	7.2%	1109	17.1%	491	7.7%	2	0.1%
Math & Science	332	0410	4010	1009	23.170	1042	24.170	937	14.970	247	J.770	430	7.070	1109	17.370	471	1.170	5	0.078
Summer 2014	50	801	675	227	28.3%	215	26.8%	141	17.6%	46	5.7%	44	5.5%	68	8.5%	58	7.2%	2	0.2%
Fall 2014	129	2801	2160	660	23.6%	705	25.2%	496	17.7%	170	6.1%	128	4.6%	462	16.5%	179	6.4%	1	0.2%
Spring 2015	119	2426	1936	525	21.6%	603	24.9%	490	20.2%	158	6.5%	163	6.7%	376	15.5%	111	4.6%	1	0.0%
Total MSD FY2015	298	6028	4771	1412	23.4%	1523	25.3%	1126	18.7%	374	6.2%	335	5.6%	906	15.0%	348	5.8%	4	0.1%
Social Science & Educa	tion			=															
Summer 2014	71	968	795	433	44.7%	197	20.4%	102	10.5%	23	2.4%	32	3.3%	84	8.7%	89	9.2%	8	0.8%
Fall 2014	202	3926	3243	1511	38.5%	848	21.6%	464	11.8%	150	3.8%	228	5.8%	477	12.1%	206	5.2%	42	1.1%
Spring 2015	215	4055	3405	1662	41.0%	859	21.2%	422	10.4%	120	3.0%	302	7.4%	472	11.6%	178	4.4%	40	1.0%
Total SSE FY2015	488	8949	7443	3606	40.3%	1904	21.3%	988	11.0%	293	3.3%	562	6.3%	1033	11.5%	473	5.3%	90	1.0%
Technology																			
Summer 2014	26	168	158	61	36.3%	38	22.6%	13	7.7%	7	4.2%	11	6.5%	9	5.4%	1	0.6%	28	16.7%
Fall 2014	103	1287	1094	439	34.1%	347	27.0%	163	12.7%	66	5.1%	53	4.1%	132	10.3%	61	4.7%	26	2.0%
Spring 2015	131	1302	1200	536	41.2%	394	30.3%	178	13.7%	52	4.0%	28	2.2%	81	6.2%	21	1.6%	12	0.9%
Total Technology FY2015	260	2757	2452	1036	37.6%	779	28.3%	354	12.8%	125	4.5%	92	3.3%	222	8.1%	83	3.0%	66	2.4%
Overtall Total																			
Total Summer 2014	284	3832	3262	1450	37.8%	958	25.0%	513	13.4%	127	3.3%	163	4.3%	331	8.6%	239	6.2%	51	1.3%
Total Fall 2014	867	15773	12756	4850	30.7%	3933	24.9%	2363	15.0%	748	4.7%	781	5.0%	2092	13.3%	925	5.9%	81	0.5%
Total Spring 2015	866	14425	12077	4883	33.9%	3507	24.3%	2152	14.9%	637	4.4%	834	5.8%	1728	12.0%	617	4.3%	67	0.5%
Total FY2015	2017	34030	28095	11183	32.9%	8398	24.7%	5028	14.8%	1512	4.4%	1778	5.2%	4151	12.2%	1781	5.2%	199	0.6%

Agriculture Division	Total Number of	Total Enrollment	Total Enrollment End of	Receiv	ved an A	Rece	lved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	Wit	hdrew		ed by 10th Day	# with P'	s, I's, or U's
Division	Course Sections	Beginning of Term	Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Agriculture																			
Summer 2014	24	325	322	194	59.7%	87	26.8%	32	9.8%	8	2.5%	1	0.3%	3	0.9%	0	0.0%	0	0.0%
AGR-041	1	3	2	2	66.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	33.3%	0	0.0%	0	0.0%
AGR-042	3	66	64	54	81.8%	9	13.6%	0	0.0%	1	1.5%	0	0.0%	2	3.0%	0	0.0%	0	0.0%
AGR-043	2	10	10	9	90.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-053	2	56	56	16	28.6%	17	30.4%	21	37.5%	1	1.8%	1	1.8%	0	0.0%	0	0.0%	0	0.0%
AGR-086	1	13	13	4	30.8%	8	61.5%	0	0.0%	1	7.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-094	1	12	12	4	33.3%	8	66.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-095	1	14	14	14	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-096	1	14	14	14	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-098	1	11	11	11	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-120	2	56	56	20	35.7%	20	35.7%	11	19.6%	5	8.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HRT-091	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HRT-092	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HRT-093 JDA-041	1	22	1 22	0 12	0.0% 54.5%	1 10	100.0% 45.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
	2	22	22	12		9	45.5% 40.9%	0		0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-072 JDA-094	2	22	22	18	59.1% 81.8%	4	40.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Fall 2014	55	985	919	377	38.3%	281	28.5%	174	17.7%	63	6.4%	24	2.4%	42	4.3%	24	2.4%	0	0.0%
AGR-040	2	48	36	9	18.8%	12	25.0%	8	16.7%	6	12.5%	24	2.1%	42	12.5%	6	12.5%	0	0.0%
AGR-040 AGR-043	5	62	62	51	82.3%	9	14.5%	2	3.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-043	2	58	57	44	75.9%	7	14.5%	1	1.7%	1	1.7%	4	6.9%	1	1.7%	0	0.0%	0	0.0%
AGR-040	2	58	50	5	8.6%	10	17.2%	20	34.5%	14	24.1%	1	1.7%	7	12.1%	1	1.7%	0	0.0%
AGR-052	2	55	55	14	25.5%	21	38.2%	14	25.5%	6	10.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-052	1	18	18	9	50.0%	5	27.8%	3	16.7%	1	5.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-060	2	60	55	8	13.3%	24	40.0%	13	21.7%	8	13.3%	2	3.3%	1	1.7%	4	6.7%	0	0.0%
AGR-061	1	20	18	18	90.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	10.0%	0	0.0%
AGR-062	1	12	12	12	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-080	1	14	12	0	0.0%	5	35.7%	5	35.7%	2	14.3%	0	0.0%	2	14.3%	0	0.0%	0	0.0%
AGR-083	1	14	12	2	14.3%	7	50.0%	2	14.3%	1	7.1%	0	0.0%	2	14.3%	0	0.0%	0	0.0%
AGR-08	1	12	11	2	16.7%	7	58.3%	2	16.7%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
AGR-088	1	12	12	1	8.3%	6	50.0%	4	33.3%	0	0.0%	1	8.3%	0	0.0%	0	0.0%	0	0.0%
AGR-090	1	25	24	10	40.0%	3	12.0%	6	24.0%	4	16.0%	1	4.0%	1	4.0%	0	0.0%	0	0.0%
AGR-091	1	14	12	3	21.4%	5	35.7%	3	21.4%	0	0.0%	1	7.1%	2	14.3%	0	0.0%	0	0.0%
AGR-122	1	23	23	10	43.5%	8	34.8%	4	17.4%	1	4.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-131	2	34	34	12	35.3%	14	41.2%	7	20.6%	1	2.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-134	1	32	31	17	53.1%	7	21.9%	6	18.8%	1	3.1%	0	0.0%	1	3.1%	0	0.0%	0	0.0%
AGR-151	1	32	32	19	59.4%	12	37.5%	1	3.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-205	1	26	22	2	7.7%	11	42.3%	6	23.1%	2	7.7%	1	3.8%	2	7.7%	2	7.7%	0	0.0%
AGR-206	2	42	38	14	33.3%	15	35.7%	8	19.0%	0	0.0%	1	2.4%	3	7.1%	1	2.4%	0	0.0%
AGR-207	1	30	30	12	40.0%	7	23.3%	10	33.3%	0	0.0%	1	3.3%	0	0.0%	0	0.0%	0	0.0%
AGR-208	1	24	24	12	50.0%	8	33.3%	3	12.5%	0	0.0%	1	4.2%	0	0.0%	0	0.0%	0	0.0%
HRT-061	1	11	8	6	54.5%	0	0.0%	1	9.1%	1	9.1%	0	0.0%	2	18.2%	1	9.1%	0	0.0%
HRT-076	1	16	13	7	43.8%	2	12.5%	4	25.0%	0	0.0%	0	0.0%	2	12.5%	1	6.3%	0	0.0%
HRT-081	1	9	8	3	33.3%	2	22.2%	3	33.3%	0	0.0%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
HRT-092	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HRT-201	1	16	12	7	43.8%	2	12.5%	1	6.3%	1	6.3%	1	6.3%	2	12.5%	2	12.5%	0	0.0%
JDA-042	2	22	22	11	50.0%	11	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-050	2	22	22	15	68.2%	7	31.8%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-051	2	22	22	4	18.2%	9	40.9%	8	36.4%	1	4.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-073	2	30	28	2	6.7%	10	33.3%	9	30.0%	6	20.0%	1	3.3%	2	6.7%	0	0.0%	0	0.0%
JDA-080	2	30	26	7	23.3%	9	30.0%	7	23.3%	3	10.0%	0	0.0%	2	6.7%	2	6.7%	0	0.0%
JDA-087	2	22	22	11	50.0%	8	36.4%	3	13.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-091	2	28	28	5	17.9%	11	39.3%	5	17.9%	3	10.7%	4	14.3%	0	0.0%	0	0.0%	0	0.0%
JDA-111	2	31	27	12	38.7%	7	22.6%	5	16.1%	0	0.0%	3	9.7%	2	6.5%	2	6.5%	0	0.0%

Agriculture	Total Number of	Total Enrollment	Total Enrollment	Receiv	ed an A	Recei	ved a B	Recei	ved a C	Receiv	ved a D	Receiv	ved a F	Wit	hdrew		d by 10th Day	# with P's	s, I's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Spring 2015	63	979	947	474	48.4%	258	26.4%	151	15.4%	54	5.5%	10	1.0%	20	2.0%	12	1.2%	0	0.0%
AGR-041	5	63	61	40	63.5%	12	19.0%	7	11.1%	2	3.2%	0	0.0%	2	3.2%	0	0.0%	0	0.0%
AGR-044	5	60	59	42	70.0%	14	23.3%	2	3.3%	1	1.7%	0	0.0%	1	1.7%	0	0.0%	0	0.0%
AGR-049	2	49	48	36	73.5%	11	22.4%	0	0.0%	0	0.0%	1	2.0%	1	2.0%	0	0.0%	0	0.0%
AGR-051	2	49	48	5	10.2%	10	20.4%	19	38.8%	12	24.5%	2	4.1%	1	2.0%	0	0.0%	0	0.0%
AGR-063	2	33	32	6	18.2%	7	21.2%	16	48.5%	2	6.1%	1	3.0%	1	3.0%	0	0.0%	0	0.0%
AGR-064	1	12	12	11	91.7%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-065	1	29	29	29	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-066	1	16	15	15	93.8%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	6.3%	0	0.0%
AGR-071	1	12	12	12	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-082	1	13	13	1	7.7%	6	46.2%	4	30.8%	2	15.4%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-089	1	12	12	4	33.3%	7	58.3%	1	8.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-092	1	14	14	0	0.0%	6	42.9%	6	42.9%	2	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-097	1	17	16	1	5.9%	13	76.5%	2	11.8%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	0	0.0%
AGR-111	2	46	43	23	50.0%	11	23.9%	6	13.0%	3	6.5%	0	0.0%	0	0.0%	3	6.5%	0	0.0%
AGR-112	1	22	21	14	63.6%	6	27.3%	1	4.5%	0	0.0%	0	0.0%	1	4.5%	0	0.0%	0	0.0%
AGR-121	1	17	16	8	47.1%	6	35.3%	2	11.8%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	0	0.0%
AGR-123	2	57	56	24	42.1%	14	24.6%	14	24.6%	4	7.0%	0	0.0%	1	1.8%	0	0.0%	0	0.0%
AGR-124	1	22	22	9	40.9%	9	40.9%	4	18.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-132	1	34	34	19	55.9%	8	23.5%	7	20.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-133	1	37	37	29	78.4%	8	21.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-152	1	20	18	1	5.0%	4	20.0%	4	20.0%	7	35.0%	2	10.0%	2	10.0%	0	0.0%	0	0.0%
AGR-201	1	19	19	13	68.4%	5	26.3%	0	0.0%	0	0.0%	1	5.3%	0	0.0%	0	0.0%	0	0.0%
AGR-204	1	31	31	7	22.6%	11	35.5%	12	38.7%	1	3.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AGR-205	1	28	27	4	14.3%	11	39.3%	6	21.4%	5	17.9%	1	3.6%	0	0.0%	1	3.6%	0	0.0%
AGR-206	1	8	6	1	12.5%	3	37.5%	0	0.0%	2	25.0%	0	0.0%	2	25.0%	0	0.0%	0	0.0%
AGR-207	1	18	16	5	27.8%	5	27.8%	3	16.7%	2	11.1%	1	5.6%	2	11.1%	0	0.0%	0	0.0%
HRT-063	1	19	16	9	47.4%	3	15.8%	2	10.5%	2	10.5%	0	0.0%	2	10.5%	1	5.3%	0	0.0%
HRT-066	1	17	15	10	58.8%	1	5.9%	2	11.8%	2	11.8%	0	0.0%	1	5.9% 5.6%	1	5.9% 5.6%	0	0.0%
HRT-072		18	16	10	55.6%	3	16.7%	2	11.1%		5.6%								
HRT-091	1	10 3	10	9	90.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HRT-092 HRT-093	1	-	3	2	66.7%	0	0.0%	-	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
JDA-043		1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
	2	22	22 21		77.3%	5	22.7%	8	0.0%	1	4.5%	0	0.0%	0	0.0%	1	4.5%	0	0.0%
JDA-054	2	22		5	22.7%	7	31.8%	8	36.4%	1	4.5%	0	0.0%	0	0.0%	1	4.5%	0	0.0%
JDA-071 JDA-082	2	21	20		9.5%	13	61.9%		19.0%	0	4.8%	0		0	0.0%	0	4.8%	0	0.0%
	2	22	22 20	16 3	72.7%	6	27.3%	0	0.0%	0	0.0%	1	0.0% 4.8%	0	0.0%	1	4.8%	0	0.0%
JDA-086	4	21		3	14.3%	10	47.6%	6 7	28.6%	1	4.8%	0	4.8%	0	0.0%	1	4.8%	0	0.0%
JDA-092 JDA-095	2	21 22	20 22	4	19.0% 27.3%	8 14	38.1% 63.6%	2	33.3% 9.1%	0	4.8%	0	0.0%	0	0.0%	0	4.8%	0	0.0%
JDA-095 JDA-113	2	22	22	21	27.3% 95.5%	14	4.5%	2		0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
						-			0.0%	-		-		-		-		-	
Total FY2015	142	2289	2188	1045	45.7%	626	27.3%	357	15.6%	125	5.5%	35	1.5%	65	2.8%	36	1.6%	0	0.0%

Allied Health	Total Number of	Total Enrollment	Total Enrollment	Receiv	red an A	Recei	ved a B	Rece	ived a C	Rece	ved a D	Recei	ived a F	With	ndrew		d by 10th ay		p's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Allied Health																			
Summer 2014	28	443	397	160	36.1%	165	37.2%	54	12.2%	2	0.5%	5	1.1%	30	6.8%	16	3.6%	11	2.5%
ADN-051	1	13	11	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	7.7%	1	7.7%	11	84.6%
ADN-052	2	53	50	12	22.6%	34	64.2%	4	7.5%	0	0.0%	0	0.0%	1	1.9%	2	3.8%	0	0.0%
ADN-061	1	8	8	5	62.5%	2	25.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AHE-040	4	70	45	11	15.7%	22	31.4%	11	15.7%	0	0.0%	1	1.4%	19	27.1%	6	8.6%	0	0.0%
AHE-041	2	47	43	29	61.7%	10	21.3%	3	6.4%	1	2.1%	0	0.0%	2	4.3%	2	4.3%	0	0.0%
AHE-055	2	40	38	22	55.0%	10	25.0%	3	7.5%	1	2.5%	2	5.0%	2	5.0%	0	0.0%	0	0.0%
DHY-081	1	22	21	9	40.9%	10	45.5%	2	9.1%	0	0.0%	0	0.0%	0	0.0%	1	4.5%	0	0.0%
DHY-082	1	21	20	17	81.0%	3	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	4.8%	0	0.0%
DHY-083	1	21	20	3	14.3%	12	57.1%	5	23.8%	0	0.0%	0	0.0%	0	0.0%	1	4.8%	0	0.0%
EMS-050	1	11	9	1	9.1%	7	63.6%	1	9.1%	0	0.0%	0	0.0%	2	18.2%	0	0.0%	0	0.0%
EMS-057	1	13	13	0	0.0%	6	46.2%	6	46.2%	0	0.0%	1	7.7%	0	0.0%	0	0.0%	0	0.0%
MAS-060	1	8	7	2	25.0%	2	25.0%	3	37.5%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
MAS-067	1	7	7	1	14.3%	3	42.9%	3	42.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-075	1	9	9	7	77.8%	0	0.0%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	0	0.0%	0	0.0%
MAS-077	2	8	8	6	75.0%	2	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PNC-054	3	36	34	6	16.7%	21	58.3%	7	19.4%	0	0.0%	0	0.0%	1	2.8%	1	2.8%	0	0.0%
PNC-055	2	36	34	9	25.0%	21	58.3%	4	11.1%	0	0.0%	0	0.0%	1	2.8%	1	2.8%	0	0.0%
PTA-085	1	20	20	20	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Fall 2014	65	1104	981	366	33.2%	374	33.9%	209	18.9%	17	1.5%	15	1.4%	69	6.3%	54	4.9%	0	0.0%
ADN-040	3	60	58	0	0.0%	36	60.0%	21	35.0%	1	1.7%	0	0.0%		1.7%		1.7%	0	0.0%
ADN-052	1	12	12	3	25.0%	8	66.7%	1	8.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ADN-076	3 9	61	59	3	4.9% 17.9%	31	50.8%	22	36.1%	3 0	4.9%	1	0.0%	2 22	3.3%	23	0.0%	0	0.0%
AHE-040	4	106 98	61 89	19 EE		28	26.4%	13	12.3%		0.0%	3	0.9%	22	20.8%	23	21.7%	0	0.0%
AHE-041 AHE-044	4	28	22	55 10	56.1% 35.7%	24 4	24.5% 14.3%	6	6.1% 21.4%	1	1.0% 3.6%	3	3.1% 3.6%	2	2.0% 7.1%	4	7.1% 14.3%	0	0.0%
AHE-044 AHE-047	2	20	19	7	35.0%	7	35.0%	3	15.0%	2	10.0%	0	0.0%	2	5.0%	4	0.0%	0	0.0%
AHE-047 AHE-048	2	19	17	16	84.2%	1	5.3%	0	0.0%	2	0.0%	0	0.0%	0	0.0%	2	10.5%	0	0.0%
AHE-048	1	2	2	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AHE-055	3	77	54	20	26.0%	17	22.1%	7	9.1%	4	5.2%	6	7.8%	18	23.4%	5	6.5%	0	0.0%
DHY-041	1	27	27	27	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-066	1	29	27	8	27.6%	14	48.3%	5	17.2%	0	0.0%	0	0.0%	0	0.0%	2	6.9%	0	0.0%
DHY-067	1	29	27	6	20.7%	9	31.0%	12	41.4%	0	0.0%	0	0.0%	0	0.0%	2	6.9%	0	0.0%
DHY-068	1	28	26	7	25.0%	10	35.7%	9	32.1%	0	0.0%	0	0.0%	0	0.0%	2	7.1%	0	0.0%
DHY-069	1	28	26	7	25.0%	17	60.7%	2	7.1%	0	0.0%	0	0.0%	0	0.0%	2	7.1%	0	0.0%
DHY-080	1	21	21	6	28.6%	7	33.3%	7	33.3%	1	4.8%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-084	1	21	20	20	95.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
DHY-086	1	21	20	3	14.3%	11	52.4%	6	28.6%	0	0.0%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
DHY-087	1	21	20	9	42.9%	11	52.4%	0	0.0%	0	0.0%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
DHY-088	1	21	20	1	4.8%	12	57.1%	7	33.3%	0	0.0%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
DHY-089	1	20	19	12	60.0%	7	35.0%	0	0.0%	0	0.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%
DHY-090	1	21	20	4	19.0%	8	38.1%	8	38.1%	0	0.0%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
EMS-050	1	17	11	0	0.0%	5	29.4%	4	23.5%	0	0.0%	2	11.8%	5	29.4%	1	5.9%	0	0.0%
FST-041	1	8	8	3	37.5%	4	50.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
FST-043	1	5	4	2	40.0%	2	40.0%	0	0.0%	0	0.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%
FST-072	1	5	5	3	60.0%	2	40.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
FST-073	1	8	7	3	37.5%	2	25.0%	2	25.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
FST-074	1	5	5	2	40.0%	3	60.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-055-	1	8	7	2	25.0%	3	37.5%	1	12.5%	1	12.5%	0	0.0%	1	12.5%	0	0.0%	0	0.0%

Allied Health	Total Number of	Total Enroliment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Rece	ived a D	Rece	ived a F	With	ndrew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
MAS-070	2	15	14	12	80.0%	2	13.3%	0	0.0%	0	0.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
MAS-075	1	7	7	6	85.7%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-077	1	7	7	5	71.4%	1	14.3%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-085	1	8	7	4	50.0%	3	37.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%
MAS-087	1	8	7	4	50.0%	3	37.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%
PNC-049	2	34	32	5	14.7%	13	38.2%	14	41.2%	0	0.0%	0	0.0%	2	5.9%	0	0.0%	0	0.0%
PNC-050	2	50	48	3	6.0%	25	50.0%	19	38.0%	1	2.0%	0	0.0%	2	4.0%	0	0.0%	0	0.0%
PNC-053		20	18 19	12	60.0%	2	10.0%	3	15.0%	0	0.0%	1	5.0%	1	5.0%	0	5.0%	0	0.0%
PNC-055	1	19 24	24	13	68.4% 12.5%	2	10.5%	3 8	15.8%	0	0.0%	1	5.3%	0	0.0%	0	0.0%	0	0.0%
PTA-080 PTA-081	1	24	24	3 17	70.8%	13 7	54.2% 29.2%	0	33.3% 0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PTA-081 PTA-094	1	24	24	2	10.8%	9	45.0%	8	40.0%	1	5.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PTA-094	1	20	20	2	9.1%	8	36.4%	10	40.0%	1	4.5%	0	0.0%	1	4.5%	0	0.0%	0	0.0%
PTA-095	1	20	20	20	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Spring 2015	66	1094	995	365	33.4%	335	30.6%	220	20.1%	32	2.9%	41	3.7%	81	7.4%	18	1.6%	2	0.2%
ADN-042	3	60	58	1	1.7%	18	30.0%	220	48.3%	10	16.7%	-41	0.0%	2	3.3%	0	0.0%	0	0.0%
ADN-060	2	54	54	51	94.4%	2	3.7%	1	1.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ADN-061	1	8	8	8	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ADN-078	3	54	54	2	3.7%	33	61.1%	18	33.3%	1	1.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AHE-040	7	102	67	10	9.8%	31	30.4%	20	19.6%	1	1.0%	4	3.9%	24	23.5%	11	10.8%	1	1.0%
AHE-041	5	136	122	68	50.0%	32	23.5%	11	8.1%	3	2.2%	8	5.9%	11	8.1%	3	2.2%	0	0.0%
AHE-042	1	20	19	18	90.0%	1	5.0%	0	0.0%	0	0.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%
AHE-044	1	28	23	5	17.9%	8	28.6%	5	17.9%	1	3.6%	4	14.3%	4	14.3%	1	3.6%	0	0.0%
AHE-047	2	18	16	2	11.1%	9	50.0%	5	27.8%	0	0.0%	0	0.0%	2	11.1%	0	0.0%	0	0.0%
AHE-048	2	17	14	13	76.5%	0	0.0%	0	0.0%	0	0.0%	1	5.9%	3	17.6%	0	0.0%	0	0.0%
AHE-051	1	2	1	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%
AHE-055	2	46	37	14	30.4%	9	19.6%	7	15.2%	2	4.3%	5	10.9%	7	15.2%	2	4.3%	0	0.0%
DHY-043	1	20	20	20	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-045	1	27	26	5	18.5%	19	70.4%	2	7.4%	0	0.0%	0	0.0%	1	3.7%	0	0.0%	0	0.0%
DHY-071	1	26	26	3	11.5%	14	53.8%	9	34.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-072	1	27	26	4	14.8%	18	66.7%	4	14.8%	0	0.0%	0	0.0%	1	3.7%	0	0.0%	0	0.0%
DHY-092	1	20	20	15	75.0%	4	20.0%	1	5.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-093	1	20	20	6	30.0%	9	45.0%	5	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
DHY-094	1	20	20	4	20.0%	16	80.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EMS-050	2	22	21	3	13.6%	8	36.4%	6	27.3%	0	0.0%	4	18.2%	1	4.5%	0	0.0%	0	0.0%
EMS-056	1	15	12	0	0.0%	2	13.3%	8	53.3%	0	0.0%	2	13.3%	3	20.0%	0	0.0%	0	0.0%
EMS-059	1	10	8	3	30.0%	5	50.0%	0	0.0%	0	0.0%	0	0.0%	2	20.0%	0	0.0%	0	0.0%
EMS-065	1	15	12	0	0.0%	2	13.3%	8	53.3%	0	0.0%	2	13.3%	3	20.0%	0	0.0%	0	0.0%
EMS-066	1	10	8	3	30.0%	4	40.0%	1	10.0%	0	0.0%	0	0.0%	2	20.0%	0	0.0%	0	0.0%
FST-042	1	5	5	2	40.0%	2	40.0%	1	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
FST-044	1	6	6	2	33.3%	3	50.0%	0	0.0%	0	0.0%	1	16.7%	0	0.0%	0	0.0%	0	0.0%
FST-045	1	3	2		33.3%	0	0.0%	0	0.0%	0	0.0%	1 0	33.3%	1	33.3%	0	0.0%	0	0.0%
FST-046 MAS-055	1	4	4	2	50.0%	2	50.0%	0	0.0%	2	0.0% 20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-055 MAS-060	1	10 6	10 6	2	20.0%	6	60.0%	0	0.0%	2	20.0%	1	16.7%	0	0.0%	0	0.0%	0	0.0%
MAS-065	2	0	13	11	33.3% 78.6%	2	33.3% 7.1%	1	16.7% 7.1%	0	0.0%	0	0.0%	1	7.1%	0	0.0%	0	0.0%
MAS-005 MAS-067	1	14	8	0	0.0%	2	20.0%	3	30.0%	2	20.0%	1	10.0%	1	10.0%	1	10.0%	0	0.0%
MAS-085	1	7	° 7	6	85.7%	2	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAS-005 MAS-087	1	7	7	6	85.7%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PNC-052	2	52	49	5	9.6%	13	25.0%	23	44.2%	5	9.6%	2	3.8%	3	5.8%	0	0.0%	1	1.9%
PNC-053	3	70	65	13	18.6%	35	50.0%	14	20.0%	1	1.4%	2	2.9%	5	7.1%	0	0.0%	0	0.0%

Allied Health	Total Number of	Total Enrollment	Total Enrollment	Receiv	/ed an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Rece	ived a F	With	drew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
PNC-055	1	20	19	14	70.0%	0	0.0%	0	0.0%	2	10.0%	3	15.0%	1	5.0%	0	0.0%	0	0.0%
PTA-082	2	24	24	1	4.2%	8	33.3%	14	58.3%	1	4.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PTA-093	1	20	20	2	10.0%	7	35.0%	11	55.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PTA-096	1	20	19	2	10.0%	5	25.0%	12	60.0%	0	0.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%
PTA-098	1	20	20	17	85.0%	3	15.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PTA-099	1	19	19	19	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Total FY2015	159	2641	2373	891	33.7%	874	33.1%	483	18.3%	51	1.9%	61	2.3%	180	6.8%	88	3.3%	13	0.5%

Business	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ived a D	Recel	ved a F	With	hdrew		d by 10th Day		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Business	-	<u>e</u>	<u>.</u>													<u>.</u>			
Summer 2014	38	477	403	170	35.6%	115	24.1%	76	15.9%	16	3.4%	24	5.0%	42	8.8%	32	6.7%	2	0.4%
BUS-081	1	4	4	4	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-083	1	2	2	1	50.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-085	1	16	12	4	25.0%	5	31.3%	2	12.5%	0	0.0%	1	6.3%	2	12.5%	2	12.5%	0	0.0%
BUS-090	1	13	13	6	46.2%	4	30.8%	3	23.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-091	1	23	23	6	26.1%	9	39.1%	6	26.1%	1	4.3%	1	4.3%	0	0.0%	0	0.0%	0	0.0%
BUS-092	1	12	11	9	75.0%	2	16.7%	0	0.0%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
BUS-094	1	13	10	1	7.7%	5	38.5%	2	15.4%	0	0.0%	2	15.4%	3	23.1%	0	0.0%	0	0.0%
BUS-095	1	14	11	5	35.7%	0	0.0%	3	21.4%	1	7.1%	2	14.3%	0	0.0%	3	21.4%	0	0.0%
BUS-113	1	7	4	3	42.9%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	2	28.6%	0	0.0%
BUS-115	1	9	9	0	0.0%	2	22.2%	4	44.4%	1	11.1%	2	22.2%	0	0.0%	0	0.0%	0	0.0%
BUS-120	1	18	14	7	38.9%	4	22.2%	1	5.6%	1	5.6%	1	5.6%	1	5.6%	3	16.7%	0	0.0%
BUS-141	1	24	21	10	41.7%	5	20.8%	3	12.5%	3	12.5%	0	0.0%	3	12.5%	0	0.0%	0	0.0%
BUS-142	1	25	22	7	28.0%	10	40.0%	3	12.0%	0	0.0%	2	8.0%	1	4.0%	2	8.0%	0	0.0%
BUS-151	1	32	23	3	9.4%	10	31.3%	9	28.1%	0	0.0%	1	3.1%	3	9.4%	6	18.8%	0	0.0%
BUS-152	1	14 20	12 11	2	14.3%	5	35.7%	5 3	35.7%	0	0.0%	0	0.0%	0 8	0.0% 40.0%	2	14.3% 5.0%	0	0.0%
BUS-200	1		17		5.0%		20.0%		15.0%	2	0.0%	3	13.0%	4	40.0%	2	8.7%	0	0.0%
BUS-281	1	23	9	3 5	13.0% 55.6%	6	26.1%	5 2	21.7%	0	0.0%	3	11.1%	4	0.0%	0	0.0%	0	0.0%
CIS-060 CIS-069	1	8	8	6	55.6% 75.0%	1	11.1% 12.5%	2	22.2% 0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%
CIS-009	1	15	0	6	40.0%	5	33.3%	1	6.7%	0	0.0%	2	13.3%	1	6.7%	0	0.0%	0	0.0%
CIS-093	1	15	14	8	40.0%	3	17.6%	1	5.9%	1	5.9%	0	0.0%	1	5.9%	3	17.6%	0	0.0%
CIS-093	1	13	11	9	69.2%	0	0.0%	1	7.7%	0	0.0%	1	7.7%	2	15.4%	0	0.0%	0	0.0%
CIS-160	3	63	52	30	47.6%	9	14.3%	8	12.7%	3	4.8%	2	3.2%	7	11.1%	4	6.3%	0	0.0%
COS-054	1	11	11	3	27.3%	4	36.4%	3	27.3%	0	0.0%	1	9.1%	0	0.0%	0	0.0%	0	0.0%
COS-058	1	17	16	3	17.6%	8	47.1%	4	23.5%	1	5.9%	0	0.0%	0	0.0%	1	5.9%	0	0.0%
COS-060	1	9	9	4	44.4%	2	22.2%	3	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
COS-077	1	2	2	1	50.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EST-045	1	3	3	2	66.7%	1	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-043	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-044	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-045	1	2	2	1	50.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%
ITT-047	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-064	1	10	10	8	80.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%
MCS-040-	1	11	9	5	45.5%	2	18.2%	2	18.2%	0	0.0%	0	0.0%	1	9.1%	1	9.1%	0	0.0%
MCS-055	1	14	11	3	21.4%	5	35.7%	1	7.1%	2	14.3%	0	0.0%	3	21.4%	0	0.0%	0	0.0%
MCS-092	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Fall 2014	154	2400	1926	732	30.5%	557	23.2%	362	15.1%	156	6.5%	108	4.5%	322	13.4%	152	6.3%	11	0.5%
BUS-059	1	19	18	7	36.8%	6	31.6%	3	15.8%	2	10.5%	0	0.0%	1	5.3%	0	0.0%	0	0.0%
BUS-061	1	9	9	2	22.2%	3	33.3%	4	44.4%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-062	1	3	1	0	0.0%	1	33.3%	0	0.0%	0	0.0%	0	0.0%	2	66.7%	0	0.0%	0	0.0%
BUS-063	2	38	33	2	5.3%	10	26.3%	10	26.3%	9	23.7%	2	5.3%	4	10.5%	1	2.6%	0	0.0%
BUS-065	1	10	10	8	80.0%	2	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-078	1	13	13	12	92.3%	1	7.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-080	1	12	11	4	33.3%	5	41.7%	0	0.0%	2	16.7%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
BUS-081	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-082	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-083	1	5	4	4	80.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%
BUS-084	2	38	31	1	2.6%	13	34.2%	9	23.7%	6	15.8%	2	5.3%	5	13.2%	2	5.3%	0	0.0%

Business	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Rece	lved a C	Rece	lved a D	Rece	ived a F	With	ndrew		d by 10th Pay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
BUS-085	3	50	25	9	18.0%	4	8.0%	8	16.0%	1	2.0%	3	6.0%	21	42.0%	4	8.0%	0	0.0%
BUS-086	3	15	13	4	26.7%	3	20.0%	3	20.0%	3	20.0%	0	0.0%	2	13.3%	0	0.0%	0	0.0%
BUS-089	2	26	23	7	26.9%	9	34.6%	3	11.5%	1	3.8%	3	11.5%	1	3.8%	2	7.7%	0	0.0%
BUS-092	2	10	9	6	60.0%	3	30.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
BUS-094	3	47	38	10	21.3%	16	34.0%	7	14.9%	2	4.3%	3	6.4%	7	14.9%	2	4.3%	0	0.0%
BUS-095	3	65	53	24	36.9%	15	23.1%	11	16.9%	3	4.6%	0	0.0%	7	10.8%	5	7.7%	0	0.0%
BUS-096	1	12	11	5	41.7%	3	25.0%	3	25.0%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
BUS-098	1	8	4	1	12.5%	1	12.5%	0	0.0%	1	12.5%	1	12.5%	1	12.5%	3	37.5%	0	0.0%
BUS-099	1	7	7	7	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-113	2	42	21	4	9.5%	12	28.6%	2	4.8%	3	7.1%	0	0.0%	11	26.2%	10	23.8%	0	0.0%
BUS-114	1	21	17	6	28.6%	2	9.5%	6	28.6%	2	9.5%	1	4.8%	1	4.8%	3	14.3%	0	0.0%
BUS-120	1	18	15	11	61.1%	1	5.6%	3	16.7%	0	0.0%	0	0.0%	3	16.7%	0	0.0%	0	0.0%
BUS-123	2	23	18	9	39.1%	5	21.7%	3	13.0%	0	0.0%	1	4.3%	5	21.7%	0	0.0%	0	0.0%
BUS-141	4	70	59	19	27.1%	21	30.0%	12	17.1%	6	8.6%	1	1.4%	7	10.0%	4	5.7%	0	0.0%
BUS-142	9	203	154	46	22.7%	54	26.6%	34	16.7%	12	5.9%	8	3.9%	31	15.3%	18	8.9%	0	0.0%
BUS-151	6	105	77	20	19.0%	26	24.8%	18	17.1%	11	10.5%	2	1.9%	18	17.1%	10	9.5%	0	0.0%
BUS-152	3	44	32	7	15.9%	7	15.9%	12	27.3%	2	4.5%	4	9.1%	6	13.6%	6	13.6%	0	0.0%
BUS-200	4	90	73	12	13.3%	20	22.2%	26	28.9%	7	7.8%	8	8.9%	11	12.2%	6	6.7%	0	0.0%
BUS-247	2	43	33	6	14.0%	15	34.9%	9	20.9%	1	2.3%	2	4.7%	7	16.3%	3	7.0%	0	0.0%
BUS-251	2	50	32	2	4.0%	11	22.0%	7	14.0%	9	18.0%	3	6.0%	14	28.0%	4	8.0%	0	0.0%
BUS-281	3	28	18	5	17.9%	5	17.9%	8	28.6%	0	0.0%	0	0.0%	8	28.6%	2	7.1%	0	0.0%
BUS-290	1	16	15	2	12.5%	6	37.5%	6	37.5%	0	0.0%	1	6.3%	1	6.3%	0	0.0%	0	0.0%
CIS-040	1	7	7	6	85.7%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%	0	0.0%	0	0.0%
CIS-052	1	18	16	11	61.1%	1	5.6%	2	11.1%	1	5.6%	1	5.6%	1	5.6%	1	5.6%	0	0.0%
CIS-054	1	14	9	3	21.4%	2	14.3%	1	7.1%	2	14.3%	1	7.1%	3	21.4%	2	14.3%	0	0.0%
CIS-056	3	39	32	9	23.1%	6	15.4%	13	33.3%	3	7.7%	1	2.6%	2	5.1%	5	12.8%	0	0.0%
CIS-058-	2	30	26	7	23.3%	7	23.3%	8	26.7%	3	10.0%	1	3.3%	1	3.3%	3	10.0%	0	0.0%
CIS-060	1	14	11	5	35.7%	4	28.6%	1	7.1%	0	0.0%	1	7.1%	3	21.4%	0	0.0%	0	0.0%
CIS-062	1	8	7	2	25.0%	3	37.5%	1	12.5%	0	0.0%	1	12.5%	1	12.5%	0	0.0%	0	0.0%
CIS-066	1	12	10	6	50.0%	1	8.3%	1	8.3%	0	0.0%	0	0.0%	2	16.7%	0	0.0%	2	16.7%
CIS-068	1	7	7	1	14.3%	5	71.4%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CIS-070	1	17	14	5	29.4%	4	23.5%	3	17.6%	1	5.9%	1	5.9%	3	17.6%	0	0.0%	0	0.0%
CIS-071	1	16	10	3	18.8%	4	25.0%	3	18.8%	0	0.0%	0	0.0%	5	31.3%	1	6.3%	0	0.0%
CIS-073	1	19	16	5	26.3%	6	31.6%	4	21.1%	0	0.0%	1	5.3%	3	15.8%	0	0.0%	0	0.0%
CIS-074	1	14	13	3	21.4%	4	28.6%	2	14.3%	0	0.0%	4	28.6%	1	7.1%	0	0.0%	0	0.0%
CIS-079	1	11	9	2	18.2%	2	18.2%	2	18.2%	1	9.1%	2	18.2%	2	18.2%	0	0.0%	0	0.0%
CIS-084	1	9	8	2	22.2%	1	11.1%	3	33.3%	1	11.1%	1	11.1%	1	11.1%	0	0.0%	0	0.0%
CIS-085	1	9	9	3	33.3%	4	44.4%	2	22.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CIS-087	1	22	20	1	4.5%	5	22.7%	6	27.3%	7	31.8%	1	4.5%	2	9.1%	0	0.0%	0	0.0%
CIS-088	2	34	29	20	58.8%	4	11.8%	0	0.0%	0	0.0%	3	8.8%	3	8.8%	4	11.8%	0	0.0%
CIS-092	1	18	15	12	66.7%	0	0.0%	0	0.0%	0	0.0%	3	16.7%	1	5.6%	2	11.1%	0	0.0%
CIS-093	1	25	20	13	52.0%	3	12.0%	3	12.0%	1	4.0%	0	0.0%	2	8.0%	3	12.0%	0	0.0%
CIS-094	1	28	25	13	46.4%	5	17.9%	6	21.4%	1	3.6%	0	0.0%	3	10.7%	0	0.0%	0	0.0%
CIS-095		15	13	8	53.3%	0	0.0%	1	6.7%	0	0.0%	4	26.7%	2	13.3%	0	0.0%	0	0.0%
CIS-098	1	8	7	2	25.0%	5	62.5%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
CIS-099	3	53	41	20	37.7%	7	13.2%	5	9.4%	5	9.4%	4	7.5%	10	18.9%	2	3.8%	0	0.0%
CIS-100	1	11	10	7	63.6%	1	9.1%	0	0.0%	2	18.2%	0	0.0%	1	9.1%	0	0.0%	0	0.0%
CIS-101	2	23	20	12	52.2%	5	21.7%	3	13.0%	0	0.0%	0	0.0%	2	8.7%	1	4.3%	0	0.0%
CIS-156	3	42	32	12	28.6%	7	16.7%	6	14.3%	5	11.9%	2	4.8%	8	19.0%	2	4.8%	0	0.0%
CIS-160	16	342	259	109	31.9%	70	20.5%	39	11.4%	21	6.1%	20	5.8%	62	18.1%	21	6.1%	0	0.0%
CIS-164	1	15	14	11	73.3%	1	6.7%	0	0.0%	1	6.7%	1	6.7%	0	0.0%	1	6.7%	0	0.0%

Business	Total Number of	Total Enrollment	Total Enrollment	Receiv	/ed an A	Rece	ived a B	Rece	ived a C	Rece	ived a D	Rece	ived a F	With	ndrew		d by 10th Day		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
CIS-170	2	25	22	15	60.0%	2	8.0%	1	4.0%	1	4.0%	2	8.0%	2	8.0%	1	4.0%	1	4.0%
COS-050	1	25	23	5	20.0%	11	44.0%	4	16.0%	3	12.0%	0	0.0%	2	8.0%	0	0.0%	0	0.0%
COS-052	1	23	20	1	4.3%	11	47.8%	4	17.4%	4	17.4%	0	0.0%	2	8.7%	1	4.3%	0	0.0%
COS-056	1	11	11	1	9.1%	4	36.4%	5	45.5%	1	9.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
COS-058	1	11	11	2	18.2%	7	63.6%	2	18.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
COS-059	2	6	6	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
COS-060	1	16	11	4	25.0%	7	43.8%	0	0.0%	0	0.0%	0	0.0%	4	25.0%	1	6.3%	0	0.0%
COS-061	1	25	20	12	48.0%	7	28.0%	1	4.0%	0	0.0%	0	0.0%	2	8.0%	3	12.0%	0	0.0%
COS-078	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EST-041	1	13	11	6	46.2%	5	38.5%	0	0.0%	0	0.0%	0	0.0%	2	15.4%	0	0.0%	0	0.0%
EST-042 ITT-043	1	11 5	11 5	6 5	54.5% 100.0%	3 0	27.3% 0.0%	2 0	18.2% 0.0%	0	0.0%	0	0.0%	0	0.0% 0.0%	0	0.0%	0	0.0%
ITT-043	1	1	5	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-044	1	4	4	2	50.0%	0	0.0%	0	0.0%	0	0.0%	2	50.0%	0	0.0%	0	0.0%	0	0.0%
ITT-043	1	2	2	1	50.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-040	1	25	21	5	20.0%	7	28.0%	5	20.0%	2	8.0%	2	8.0%	1	4.0%	3	12.0%	0	0.0%
MCS-050	1	25	21	7	28.0%	9	36.0%	2	8.0%	1	4.0%	2	8.0%	1	4.0%	3	12.0%	0	0.0%
MCS-055	1	18	15	1	5.6%	5	27.8%	6	33.3%	3	16.7%	0	0.0%	1	5.6%	2	11.1%	0	0.0%
MCS-056	1	9	8	6	66.7%	2	22.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	11.1%	0	0.0%
MCS-060	1	20	19	15	75.0%	3	15.0%	1	5.0%	0	0.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%
MCS-065	1	26	25	11	42.3%	10	38.5%	2	7.7%	1	3.8%	1	3.8%	0	0.0%	1	3.8%	0	0.0%
MCS-068	1	11	9	5	45.5%	3	27.3%	0	0.0%	1	9.1%	0	0.0%	0	0.0%	2	18.2%	0	0.0%
MCS-070	1	22	21	19	86.4%	1	4.5%	1	4.5%	0	0.0%	0	0.0%	0	0.0%	1	4.5%	0	0.0%
MCS-080	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-085	1	19	18	10	52.6%	6	31.6%	2	10.5%	0	0.0%	0	0.0%	0	0.0%	1	5.3%	0	0.0%
MCS-090	1	15	14	7	46.7%	6	40.0%	1	6.7%	0	0.0%	0	0.0%	0	0.0%	1	6.7%	0	0.0%
MCS-091	1	4	3	2	50.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%
Spring 2015	146	2079	1729	682	32.8%	478	23.0%	325	15.6%	123	5.9%	111	5.3%	272	13.1%	78	3.8%	10	0.5%
BUS-059	1	7	6	5	71.4%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%
BUS-060	2	40	32	12	30.0%	12	30.0%	1	2.5%	3	7.5%	4	10.0%	6	15.0%	2	5.0%	0	0.0%
BUS-061	1	11	8	2	18.2%	1	9.1%	2	18.2%	2	18.2%	1	9.1%	3	27.3%	0	0.0%	0	0.0%
BUS-063	1	19	13	2	10.5%	3	15.8%	5	26.3%	1	5.3%	2	10.5%	6	31.6%	0	0.0%	0	0.0%
BUS-074	1	2	2	1	50.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%
BUS-076	3	2	2	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	1	50.0%
BUS-078	1	10	10	7	70.0%	3	30.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-079 BUS-080	2	28	25	11	39.3%	8	28.6%	3	10.7%	2	7.1% 15.4%	1	3.6%	1	3.6% 7.7%	2	7.1% 0.0%	0	0.0% 0.0%
BUS-080 BUS-081	1	13 5	12 5	5 4	38.5% 80.0%	3	23.1% 20.0%	2 0	15.4% 0.0%	2	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-081 BUS-082	1	1	5	4	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-082	1	5	5	4	80.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-084	1	18	14	3	16.7%	3	16.7%	4	22.2%	1	5.6%	3	16.7%	4	22.2%	0	0.0%	0	0.0%
BUS-085	2	51	38	18	35.3%	7	13.7%	7	13.7%	3	5.9%	3	5.9%	7	13.7%	6	11.8%	0	0.0%
BUS-089	1	21	19	1	4.8%	6	28.6%	5	23.8%	5	23.8%	2	9.5%	2	9.5%	0	0.0%	0	0.0%
BUS-094	2	28	25	21	75.0%	2	7.1%	1	3.6%	0	0.0%	1	3.6%	2	7.1%	1	3.6%	0	0.0%
BUS-095	3	63	51	23	36.5%	17	27.0%	7	11.1%	1	1.6%	2	3.2%	8	12.7%	4	6.3%	1	1.6%
BUS-096	1	19	18	5	26.3%	6	31.6%	5	26.3%	1	5.3%	1	5.3%	1	5.3%	0	0.0%	0	0.0%
BUS-097	1	8	8	1	12.5%	4	50.0%	2	25.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BUS-098	1	11	8	0	0.0%	4	36.4%	4	36.4%	0	0.0%	0	0.0%	3	27.3%	0	0.0%	0	0.0%
BUS-099	1	14	11	11	78.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	3	21.4%	0	0.0%	0	0.0%
BUS-113	1	29	18	9	31.0%	2	6.9%	5	17.2%	1	3.4%	1	3.4%	9	31.0%	2	6.9%	0	0.0%
BUS-114	2	20	17	3	15.0%	10	50.0%	2	10.0%	1	5.0%	1	5.0%	1	5.0%	2	10.0%	0	0.0%

Business	Total Number of	Total Enrollment	Total Enrollment	Receiv	/ed an A	Recei	ved a B	Rece	ived a C	Rece	ived a D	Rece	ived a F	With	ndrew		d by 10th Day		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
BUS-115	2	17	13	1	5.9%	4	23.5%	5	29.4%	2	11.8%	1	5.9%	4	23.5%	0	0.0%	0	0.0%
BUS-120	1	20	18	9	45.0%	4	20.0%	5	25.0%	0	0.0%	0	0.0%	2	10.0%	0	0.0%	0	0.0%
BUS-141	2	37	33	6	16.2%	15	40.5%	8	21.6%	1	2.7%	3	8.1%	4	10.8%	0	0.0%	0	0.0%
BUS-142	5	111	84	26	23.4%	22	19.8%	16	14.4%	13	11.7%	7	6.3%	25	22.5%	2	1.8%	0	0.0%
BUS-151	4	86	62	20	23.3%	24	27.9%	12	14.0%	5	5.8%	1	1.2%	19	22.1%	5	5.8%	0	0.0%
BUS-152	3	54	50	15	27.8%	19	35.2%	13	24.1%	1	1.9%	2	3.7%	3	5.6%	1	1.9%	0	0.0%
BUS-200	8	103	94	18	17.5%	33	32.0%	25	24.3%	7	6.8%	11	10.7%	6	5.8%	3	2.9%	0	0.0%
BUS-247	2	36	32 31	11 7	30.6%	12	33.3%	5	13.9%	3	8.3%	1	2.8%	3 7	8.3%	1	2.8%	0	0.0%
BUS-251 BUS-281	4	42 60	43	10	16.7% 16.7%	11 11	26.2%	5 14	11.9% 23.3%	6 4	14.3% 6.7%	4	4.8% 6.7%	17	16.7% 28.3%	4	9.5% 0.0%	0	0.0%
BUS-285	2	21	20	7	33.3%	5	18.3% 23.8%	4	23.3%	4	9.5%	4	0.7%	1	4.8%	2	9.5%	0	0.0%
BUS-285	2	6	20	0	0.0%	0	0.0%	4	16.7%	1	16.7%	0	0.0%	4	66.7%	0	0.0%	0	0.0%
BUS-290	1	24	18	2	8.3%	7	29.2%	6	25.0%	2	8.3%	1	4.2%	4	16.7%	2	8.3%	0	0.0%
CIS-040	1	7	7	5	71.4%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	28.6%
CIS-047	1	9	9	3	33.3%	4	44.4%	2	22.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CIS-049	2	9	7	4	44.4%	0	0.0%	1	11.1%	1	11.1%	1	11.1%	2	22.2%	0	0.0%	0	0.0%
CIS-050	1	16	16	9	56.3%	1	6.3%	5	31.3%	0	0.0%	1	6.3%	0	0.0%	0	0.0%	0	0.0%
CIS-051	1	12	12	6	50.0%	4	33.3%	1	8.3%	0	0.0%	1	8.3%	0	0.0%	0	0.0%	0	0.0%
CIS-053	1	11	11	3	27.3%	2	18.2%	4	36.4%	1	9.1%	1	9.1%	0	0.0%	0	0.0%	0	0.0%
CIS-058	1	15	12	5	33.3%	2	13.3%	3	20.0%	0	0.0%	2	13.3%	3	20.0%	0	0.0%	0	0.0%
CIS-060	1	15	14	9	60.0%	2	13.3%	1	6.7%	2	13.3%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
CIS-063	1	14	11	3	21.4%	6	42.9%	0	0.0%	0	0.0%	1	7.1%	2	14.3%	1	7.1%	1	7.1%
CIS-067	1	1	1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%
CIS-074	1	24	20	12	50.0%	3	12.5%	2	8.3%	1	4.2%	2	8.3%	3	12.5%	1	4.2%	0	0.0%
CIS-079	1	23	19	7	30.4%	5	21.7%	5	21.7%	0	0.0%	2	8.7%	4	17.4%	0	0.0%	0	0.0%
CIS-081	1	22	20	8	36.4%	4	18.2%	5	22.7%	1	4.5%	2	9.1%	2	9.1%	0	0.0%	0	0.0%
CIS-083	1	14	13	12	85.7%	0	0.0%	1	7.1%	0	0.0%	0	0.0%	0	0.0%	1	7.1%	0	0.0%
CIS-084	1	9	7	3	33.3%	2	22.2%	1	11.1%	1	11.1%	0	0.0%	1	11.1%	1	11.1%	0	0.0%
CIS-085	1	8	8	2	25.0%	2	25.0%	4	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CIS-088	1	9	8	4	44.4%	1	11.1%	1	11.1%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	1	11.1%
CIS-089	1	20	20	4	20.0%	7	35.0%	8	40.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%	0	0.0%
CIS-090	2	11	10	8	72.7%	0	0.0%	0	0.0%	0	0.0%	1	9.1%	1	9.1%	0	0.0%	1	9.1%
CIS-092	2	9	8	7	77.8%	0	0.0%	0	0.0%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
CIS-093	1	16 29	13	9	56.3%	2	12.5%	2	12.5%	0	0.0%	0	0.0%	1	6.3%	2	12.5%	0	0.0%
CIS-094	1	29 40	23 30	10 17	34.5%	7	24.1%	5	17.2%	0	0.0%	1	3.4%	6 8	20.7%	0	0.0%	0	0.0%
CIS-099 CIS-100	2	40	30 13	3	42.5% 23.1%	4	10.0% 23.1%	0	0.0% 23.1%	3	7.5% 23.1%	6	15.0% 7.7%	8	20.0% 0.0%	2	5.0% 0.0%	0	0.0%
CIS-100	1	28	21	10	35.7%	6	23.1%	3	23.1%	3	23.1%	1	3.6%	5	17.9%	2	7.1%	0	0.0%
CIS-101	2	20	21	7	25.9%	3	11.1%	6	22.2%	1	3.0%	4	14.8%	3	11.1%	2	11.1%	0	0.0%
CIS-160	11	220	166	82	37.3%	40	18.2%	24	10.9%	11	5.0%	9	4.1%	38	17.3%	16	7.3%	0	0.0%
CIS-162	1	17	15	4	23.5%	40	5.9%	7	41.2%	1	5.9%	2	11.8%	1	5.9%	1	5.9%	0	0.0%
COS-050	1	21	20	3	14.3%	9	42.9%	5	23.8%	3	14.3%	0	0.0%	1	4.8%	0	0.0%	0	0.0%
COS-052	1	20	19	3	15.0%	8	40.0%	5	25.0%	2	10.0%	1	5.0%	1	5.0%	0	0.0%	0	0.0%
COS-052	1	19	19	3	15.8%	8	42.1%	6	31.6%	2	10.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
COS-056	1	18	17	0	0.0%	5	27.8%	7	38.9%	4	22.2%	1	5.6%	1	5.6%	0	0.0%	0	0.0%
COS-059	1	1	1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%
COS-060	1	20	16	4	20.0%	8	40.0%	3	15.0%	0	0.0%	1	5.0%	3	15.0%	1	5.0%	0	0.0%
COS-061	1	18	17	10	55.6%	4	22.2%	1	5.6%	0	0.0%	2	11.1%	1	5.6%	0	0.0%	0	0.0%
COS-076	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EST-043	1	11	11	6	54.5%	1	9.1%	3	27.3%	1	9.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EST-044	1	11	11	3	27.3%	2	18.2%	3	27.3%	3	27.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%

Business	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	ndrew		d by 10th Pay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
ITT-041	1	3	2	2	66.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	33.3%	0	0.0%	0	0.0%
ITT-043	1	10	9	7	70.0%	1	10.0%	0	0.0%	0	0.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%
ITT-044	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-045	1	7	7	7	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-047	1	2	1	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%
ITT-050	1	1	1	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-053	1	15	13	8	53.3%	3	20.0%	0	0.0%	1	6.7%	1	6.7%	2	13.3%	0	0.0%	0	0.0%
ITT-054	2	14	12	6	42.9%	2	14.3%	1	7.1%	2	14.3%	1	7.1%	1	7.1%	1	7.1%	0	0.0%
ITT-066	1	6	6	3	50.0%	3	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ITT-068	1	8	8	6	75.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%	1	12.5%
MCS-040	1	24	19	7	29.2%	9	37.5%	3	12.5%	0	0.0%	0	0.0%	1	4.2%	4	16.7%	0	0.0%
MCS-050	1	22	16	3	13.6%	4	18.2%	5	22.7%	0	0.0%	4	18.2%	5	22.7%	1	4.5%	0	0.0%
MCS-055	1	19	13	4	21.1%	2	10.5%	4	21.1%	2	10.5%	1	5.3%	6	31.6%	0	0.0%	0	0.0%
MCS-060	1	21	19	5	23.8%	10	47.6%	3	14.3%	0	0.0%	1	4.8%	2	9.5%	0	0.0%	0	0.0%
MCS-065	1	18	15	7	38.9%	7	38.9%	1	5.6%	0	0.0%	0	0.0%	3	16.7%	0	0.0%	0	0.0%
MCS-070	1	17	15	12	70.6%	1	5.9%	2	11.8%	0	0.0%	0	0.0%	2	11.8%	0	0.0%	0	0.0%
MCS-075	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-080	1	4	1	1	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	50.0%	1	25.0%	0	0.0%
MCS-085	1	15	15	8	53.3%	7	46.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-090	1	13	13	6	46.2%	6	46.2%	1	7.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-091		11	11	6	54.5%	2	18.2%	2	18.2%	1	9.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MCS-092	-	16	15	10	62.5%	4	25.0%	1	6.3%	0	0.0%	0	0.0%	1	6.3%	0	0.0%	0	0.0%
Total FY2015	338	4956	4058	1584	32.0%	1150	23.2%	763	15.4%	295	6.0%	243	4.9%	636	12.8%	262	5.3%	23	0.5%

Humanities	Total Number of	Total Enrollment		Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	ndrew		l by 10th ay		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Humanities			•			-													
Summer 2014	47	650	512	205	31.5%	141	21.7%	95	14.6%	25	3.8%	46	7.1%	95	14.6%	43	6.6%	0	0.0%
ART-181	2	46	39	23	50.0%	8	17.4%	6	13.0%	2	4.3%	0	0.0%	6	13.0%	1	2.2%	0	0.0%
ART-240	1	10	5	4	40.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%	2	20.0%	3	30.0%	0	0.0%
ART-250	3	57	33	20	35.1%	6	10.5%	2	3.5%	0	0.0%	5	8.8%	14	24.6%	10	17.5%	0	0.0%
ENG-005	1	8	4	1	12.5%	1	12.5%	1	12.5%	0	0.0%	1	12.5%	4	50.0%	0	0.0%	0	0.0%
ENG-007	2	38	25	0	0.0%	7	18.4%	9	23.7%	4	10.5%	5	13.2%	11	28.9%	2	5.3%	0	0.0%
ENG-050	1	4	4	1	25.0%	0	0.0%	2	50.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%
ENG-110	2	33	32	23	69.7%	3	9.1%	6	18.2%	0	0.0%	0	0.0%	1	3.0%	0	0.0%	0	0.0%
ENG-111	1	15	15	7	46.7%	8	53.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ENG-120	6	84	59	22	26.2%	20	23.8%	9	10.7%	7	8.3%	1	1.2%	17	20.2%	8	9.5%	0	0.0%
ENG-121	5	90	74	22	24.4%	27	30.0%	16	17.8%	4	4.4%	5	5.6%	15	16.7%	1	1.1%	0	0.0%
FLG-140	1	16	12	2	12.5%	5	31.3%	3	18.8%	0	0.0%	2	12.5%	3	18.8%	1	6.3%	0	0.0%
FLG-141	1	12	9	2	16.7%	1	8.3%	4	33.3%	0	0.0%	2	16.7%	1	8.3%	2	16.7%	0	0.0%
FLG-240	1	6	3	1	16.7%	2	33.3%	0	0.0%	0	0.0%	0	0.0%	3	50.0%	0	0.0%	0	0.0%
LIT-130	1	15	14	6	40.0%	1	6.7%	7	46.7%	0	0.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
LIT-147	1	15	10	2	13.3%	3	20.0%	2	13.3%	1	6.7%	2	13.3%	0	0.0%	5	33.3%	0	0.0%
MUS-150	1	10	7	3	30.0%	2	20.0%	1	10.0%	1	10.0%	0	0.0%	1	10.0%	2	20.0%	0	0.0%
RDG-007	2	4	4	0	0.0%	1	25.0%	1	25.0%	0	0.0%	2	50.0%	0	0.0%	0	0.0%	0	0.0%
RDG-009	2	13	12	4	30.8%	2	15.4%	3	23.1%	2	15.4%	1	7.7%	1	7.7%	0	0.0%	0	0.0%
RDG-050	3	50	43	13	26.0%	9	18.0%	5	10.0%	1	2.0%	15	30.0%	7	14.0%	0	0.0%	0	0.0%
SPE-111	9	115	100	41	35.7%	35	30.4%	18	15.7%	3	2.6%	3	2.6%	7	6.1%	8	7.0%	0	0.0%
SPE-200	1	9	8	8	88.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
Fall 2014	159	3270	2433	765	23.4%	821	25.1%	495	15.1%	126	3.9%	225	6.9%	588	18.0%	249	7.6%	1	0.0%
ART-100	2	35	24	6	17.1%	13	37.1%	4	11.4%	1	2.9%	0	0.0%	7	20.0%	4	11.4%	0	0.0%
ART-110	1	22	16	9	40.9%	3	13.6%	2	9.1%	1	4.5%	1	4.5%	3	13.6%	3	13.6%	0	0.0%
ART-111	4	19	14 72	14 28	73.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	10.5%	3	15.8% 10.1%	0	0.0%
ART-181 ART-205	4	89 13	10	28	31.5% 23.1%	27	30.3%	0	10.1% 0.0%	5	5.6% 0.0%	3	3.4% 0.0%	8	9.0% 7.7%	2		1	0.0%
ART-205 ART-240	1	13	9	3 6	42.9%	6	46.2% 7.1%	0	0.0%	0	7.1%	1	7.1%	2	14.3%	2	15.4% 21.4%	0	0.0%
ART-240	4	98	44	16	42.9%	10	10.2%	8	8.2%	3	3.1%	7	7.1%	31	31.6%	23	23.5%	0	0.0%
ART-250 ART-260	4	23	44 15	6	26.1%	10	4.3%	5	21.7%	2	3.1% 8.7%	1	4.3%	3	13.0%	5	23.5%	0	0.0%
ENG-005	2	37	27	6	16.2%	8	21.6%	4	10.8%	3	8.1%	6	16.2%	10	27.0%	0	0.0%	0	0.0%
ENG-005	8	195	121	18	9.2%	41	21.0%	34	17.4%	6	3.1%	22	11.3%	63	32.3%	11	5.6%	0	0.0%
ENG-050	2	40	29	8	20.0%	9	22.5%	6	15.0%	3	7.5%	3	7.5%	6	15.0%	5	12.5%	0	0.0%
ENG-095	3	40	37	4	9.5%	21	50.0%	10	23.8%	0	0.0%	2	4.8%	2	4.8%	3	7.1%	0	0.0%
ENG-098	2	44	33	0	0.0%	11	25.0%	16	36.4%	3	6.8%	3	6.8%	8	18.2%	3	6.8%	0	0.0%
ENG-110	1	22	18	7	31.8%	6	27.3%	4	18.2%	0	0.0%	1	4.5%	4	18.2%	0	0.0%	0	0.0%
	1	26	25	4	15.4%	10	38.5%	11	42.3%	0	0.0%	0	0.0%	1	3.8%	0	0.0%	0	0.0%
ENG-111				110		138	25.9%	103	19.4%	21	3.9%	33	6.2%	96	18.0%	23	4.3%	0	0.0%
ENG-111 ENG-120	23	532	413	118	22.2%	100	20.770							48				-	0.0%
	23 11	532 225	413	45	22.2%		25.3%	33	14.7%	9	4.0%	16	7.1%	40	21.3%	17	7.6%	0	
ENG-120	-			-		57 1			14.7% 9.1%	9 0	4.0% 0.0%	16 2	7.1% 18.2%	2	21.3%	17	7.6% 9.1%	0	0.0%
ENG-120 ENG-121	11	225	160	45	20.0%	57	25.3%	33										-	
ENG-120 ENG-121 ENG-224	11 1	225 11	160 8	45 4	20.0% 36.4%	57 1	25.3% 9.1%	33 1	9.1%	0	0.0%	2	18.2%	2	18.2%	1	9.1%	0	0.0%
ENG-120 ENG-121 ENG-224 FLG-140	11 1 2	225 11 19	160 8 13	45 4 11	20.0% 36.4% 57.9%	57 1 0	25.3% 9.1% 0.0%	33 1 2	9.1% 10.5%	0 0	0.0% 0.0%	2 0	18.2% 0.0%	2 4	18.2% 21.1%	1 2	9.1% 10.5%	0	0.0% 0.0%
ENG-120 ENG-121 ENG-224 FLG-140 FLG-141	11 1 2 1	225 11 19 9	160 8 13 7	45 4 11 2	20.0% 36.4% 57.9% 22.2%	57 1 0 1	25.3% 9.1% 0.0% 11.1%	33 1 2 3	9.1% 10.5% 33.3%	0 0 0	0.0% 0.0% 0.0%	2 0 1	18.2% 0.0% 11.1%	2 4 1	18.2% 21.1% 11.1%	1 2 1	9.1% 10.5% 11.1%	0	0.0% 0.0% 0.0%
ENG-120 ENG-121 ENG-224 FLG-140 FLG-141 FLG-240	11 1 2 1 1	225 11 19 9 3	160 8 13 7 2	45 4 11 2 2	20.0% 36.4% 57.9% 22.2% 66.7%	57 1 0 1 0	25.3% 9.1% 0.0% 11.1% 0.0%	33 1 2 3 0	9.1% 10.5% 33.3% 0.0%	0 0 0	0.0% 0.0% 0.0% 0.0%	2 0 1 0	18.2% 0.0% 11.1% 0.0%	2 4 1 1	18.2% 21.1% 11.1% 33.3%	1 2 1 0	9.1% 10.5% 11.1% 0.0%	0 0 0 0	0.0% 0.0% 0.0% 0.0%
ENG-120 ENG-121 ENG-224 FLG-140 FLG-141 FLG-240 HUM-120	11 1 2 1 1 2 2	225 11 19 9 3 55	160 8 13 7 2 32	45 4 11 2 2 16	20.0% 36.4% 57.9% 22.2% 66.7% 29.1%	57 1 0 1 0 11	25.3% 9.1% 0.0% 11.1% 0.0% 20.0%	33 1 2 3 0 2	9.1% 10.5% 33.3% 0.0% 3.6%	0 0 0 1	0.0% 0.0% 0.0% 1.8%	2 0 1 0 2	18.2% 0.0% 11.1% 0.0% 3.6%	2 4 1 1 17	18.2% 21.1% 11.1% 33.3% 30.9%	1 2 1 0 6	9.1% 10.5% 11.1% 0.0% 10.9%	0 0 0 0 0	0.0% 0.0% 0.0% 0.0% 0.0%
ENG-120 ENG-121 ENG-224 FLG-140 FLG-141 FLG-240 HUM-120 HUM-150	11 1 2 1 1 2 5	225 11 19 9 3 55 129	160 8 13 7 2 32 95	45 4 11 2 2 16 42	20.0% 36.4% 57.9% 22.2% 66.7% 29.1% 32.6%	57 1 0 1 0 11 30	25.3% 9.1% 0.0% 11.1% 0.0% 20.0% 23.3%	33 1 2 3 0 2 16	9.1% 10.5% 33.3% 0.0% 3.6% 12.4%	0 0 0 1 3	0.0% 0.0% 0.0% 1.8% 2.3%	2 0 1 0 2 4	18.2% 0.0% 11.1% 0.0% 3.6% 3.1%	2 4 1 1 17 26	18.2% 21.1% 11.1% 33.3% 30.9% 20.2%	1 2 1 0 6 8	9.1% 10.5% 11.1% 0.0% 10.9% 6.2%	0 0 0 0 0	0.0% 0.0% 0.0% 0.0% 0.0%

Humanities	Total Number of	Total Enrollment		Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	ndrew		d by 10th ay		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
LIT-147	1	14	12	4	28.6%	3	21.4%	3	21.4%	1	7.1%	1	7.1%	2	14.3%	0	0.0%	0	0.0%
LIT-260	1	1	1	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
LIT-274-	1	15	12	4	26.7%	4	26.7%	2	13.3%	1	6.7%	1	6.7%	2	13.3%	1	6.7%	0	0.0%
MUS-150	4	72	46	12	16.7%	13	18.1%	15	20.8%	5	6.9%	1	1.4%	16	22.2%	10	13.9%	0	0.0%
MUS-229	2	34	25	1	2.9%	11	32.4%	8	23.5%	4	11.8%	1	2.9%	7	20.6%	2	5.9%	0	0.0%
PHI-232	3	49	40	15	30.6%	20	40.8%	3	6.1%	1	2.0%	1	2.0%	5	10.2%	4	8.2%	0	0.0%
PHI-270	1	27	21	7	25.9%	8	29.6%	5	18.5%	1	3.7%	0	0.0%	3	11.1%	3	11.1%	0	0.0%
PHI-280	5	133	113	52	39.1%	39	29.3%	13	9.8%	5	3.8%	4	3.0%	17	12.8%	3	2.3%	0	0.0%
PHI-290	2	57	46	19	33.3%	15	26.3%	10	17.5%	1	1.8%	1	1.8%	8	14.0%	3	5.3%	0	0.0%
RDG-007	1	19	9	2	10.5%	2	10.5%	2	10.5%	1	5.3%	2	10.5%	6	31.6%	4	21.1%	0	0.0%
RDG-009	8	138	99	24	17.4%	24	17.4%	21	15.2%	3	2.2%	27	19.6%	20	14.5%	19	13.8%	0	0.0%
RDG-050	12	270	196	46	17.0%	59	21.9%	31	11.5%	13	4.8%	47	17.4%	62	23.0%	12	4.4%	0	0.0%
RDG-051	1	8	8	0	0.0%	0	0.0%	8	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
RTV-070	1	16	15	3	18.8%	5	31.3%	5	31.3%	0	0.0%	2	12.5%	0	0.0%	1	6.3%	0	0.0%
RTV-072	1	11	11	9	81.8%	0	0.0%	0	0.0%	0	0.0%	2	18.2%	0	0.0%	0	0.0%	0	0.0%
RTV-150	1	28	16	2	7.1%	5	17.9%	5	17.9%	3	10.7%	1	3.6%	9	32.1%	3	10.7%	0	0.0%
RTV-155	1	26	19	5	19.2%	9	34.6%	3	11.5%	0	0.0%	2	7.7%	5	19.2%	2	7.7%	0	0.0%
RTV-180	1	14	12	3	21.4%	5	35.7%	2	14.3%	1	7.1%	1	7.1%	2	14.3%	0	0.0%	0	0.0%
SPE-111	20	478	372	137	28.7%	146	30.5%	55	11.5%	19	4.0%	15	3.1%	67	14.0%	39	8.2%	0	0.0%
SPE-200	2	50	47	9	18.0%	17	34.0%	17	34.0%	2	4.0%	2	4.0%	3	6.0%	0	0.0%	0	0.0%
SPE-213	2	11	10	8	72.7%	2	18.2%	0	0.0%	0	0.0%	0	0.0%	1	9.1%	0	0.0%	0	0.0%
STA-200	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
Spring 2015	126	2490	1865	639	25.7%	580	23.3%	367	14.7%	98	3.9%	179	7.2%	426	17.1%	199	8.0%	2	0.1%
ART-110	1	11	8	3	27.3%	3	27.3%	1	9.1%	1	9.1%	0	0.0%	2	18.2%	1	9.1%	0	0.0%
ART-165	1	18	14	10	55.6%	2	11.1%	1	5.6%	0	0.0%	1	5.6%	2	11.1%	2	11.1%	0	0.0%
ART-200	1	18	16	5	27.8%	6	33.3%	3	16.7%	0	0.0%	1	5.6%	0	0.0%	2	11.1%	1	5.6%
ART-206	1	11	9	3	27.3%	4	36.4%	1	9.1%	1	9.1%	0	0.0%	0	0.0%	2	18.2%	0	0.0%
ART-225	1	25	22	15	60.0%	2	8.0%	3	12.0%	1	4.0%	1	4.0%	3	12.0%	0	0.0%	0	0.0%
ART-240	1	27	22	13	48.1%	1	3.7%	4	14.8%	0	0.0%	4	14.8%	4	14.8%	1	3.7%	0	0.0%
ART-250	7	174	105	43	24.7%	30	17.2%	19	10.9%	5	2.9%	8	4.6%	46	26.4%	23	13.2%	0	0.0%
ART-261	1	21	16	5	23.8%	3	14.3%	5	23.8%	0	0.0%	3	14.3%	2	9.5%	3	14.3%	0	0.0%
ENG-005	1	13	8	2	15.4%	1	7.7%	1	7.7%	0	0.0%	4	30.8%	2	15.4%	3	23.1%	0	0.0%
ENG-007	6	104	68	0	0.0%	24	23.1%	24	23.1%	4	3.8%	16	15.4%	26	25.0%	10	9.6%	0	0.0%
ENG-050	3	39	32	11	28.2%	11	28.2%	5	12.8%	2	5.1%	3	7.7%	4	10.3%	3	7.7%	0	0.0%
ENG-095	2	23	18	6	26.1%	4	17.4%	4	17.4%	2	8.7%	2	8.7%	3	13.0%	2	8.7%	0	0.0%
ENG-110	2	41	35	12	29.3%	10	24.4%	11	26.8%	1	2.4%	1	2.4%	6	14.6%	0	0.0%	0	0.0%
ENG-111	2	38	37	11	28.9%	20	52.6%	5	13.2%	1	2.6%	0	0.0%	1	2.6%	0	0.0%	0	0.0%
ENG-120	15	304	195	37	12.2%	75	24.7%	52	17.1%	15	4.9%	16	5.3%	82	27.0%	27	8.9%	0	0.0%
ENG-121	17	355	285	91	25.6%	103	29.0%	60	16.9%	20	5.6%	11	3.1%	55	15.5%	15	4.2%	0	0.0%
ENG-223	1	16	11	7	43.8%	3	18.8%	0	0.0%	0	0.0%	1	6.3%	2	12.5%	3	18.8%	0	0.0%
FLG-140	1	12	9	4	33.3%	2	16.7%	3	25.0%	0	0.0%	0	0.0%	3	25.0%	0	0.0%	0	0.0%
FLG-141	2	21	17	5	23.8%	7	33.3%	2	9.5%	3	14.3%	0	0.0%	3	14.3%	1	4.8%	0	0.0%
FLG-240	1	8	6	4	50.0%	2	25.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	1	12.5%	0	0.0%
HUM-120	3	81	56	30	37.0%	11	13.6%	4	4.9%	2	2.5%	9	11.1%	16	19.8%	9	11.1%	0	0.0%
HUM-150	5	134	114	59	44.0%	27	20.1%	17	12.7%	3	2.2%	8	6.0%	9	6.7%	11	8.2%	0	0.0%
HUM-151	1	19	17	7	36.8%	5	26.3%	3	15.8%	0	0.0%	2	10.5%	1	5.3%	1	5.3%	0	0.0%
JOR-251	1	5	5	3	60.0%	1	20.0%	0	0.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%	0	0.0%
LIT-130	3	76	62	26	34.2%	21	27.6%	13	17.1%	1	1.3%	1	1.3%	5	6.6%	9	11.8%	0	0.0%
LIT-147	1	23	17	7	30.4%	7	30.4%	2	8.7%	0	0.0%	1	4.3%	4	17.4%	2	8.7%	0	0.0%
LIT-274	1	11	7	6	54.5%	0	0.0%	0	0.0%	0	0.0%	1	9.1%	2	18.2%	2	18.2%	0	0.0%
MUS-104	1	7	6	6	85.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%

Humanities	Total Number of	Total Enrollment	Total Enrollment	Receiv	red an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	drew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
MUS-150	3	67	43	8	11.9%	15	22.4%	17	25.4%	3	4.5%	0	0.0%	14	20.9%	10	14.9%	0	0.0%
MUS-229	2	42	28	6	14.3%	4	9.5%	14	33.3%	4	9.5%	0	0.0%	10	23.8%	4	9.5%	0	0.0%
RDG-007	1	9	5	0	0.0%	2	22.2%	1	11.1%	0	0.0%	2	22.2%	4	44.4%	0	0.0%	0	0.0%
RDG-009	2	39	30	8	20.5%	2	5.1%	1	2.6%	2	5.1%	17	43.6%	6	15.4%	3	7.7%	0	0.0%
RDG-050	9	176	127	30	17.0%	31	17.6%	17	9.7%	7	4.0%	42	23.9%	37	21.0%	12	6.8%	0	0.0%
RTV-070	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
RTV-073	1	10	9	9	90.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
RTV-160	1	14	11	2	14.3%	4	28.6%	1	7.1%	3	21.4%	1	7.1%	3	21.4%	0	0.0%	0	0.0%
RTV-165	1	18	13	1	5.6%	5	27.8%	3	16.7%	0	0.0%	4	22.2%	5	27.8%	0	0.0%	0	0.0%
RTV-175	1	13	9	1	7.7%	2	15.4%	2	15.4%	3	23.1%	0	0.0%	3	23.1%	1	7.7%	1	7.7%
RTV-185	1	11	9	3	27.3%	2	18.2%	3	27.3%	1	9.1%	0	0.0%	2	18.2%	0	0.0%	0	0.0%
SPE-111	17	399	318	126	31.6%	108	27.1%	59	14.8%	11	2.8%	14	3.5%	51	12.8%	30	7.5%	0	0.0%
SPE-200	2	42	34	8	19.0%	17	40.5%	5	11.9%	2	4.8%	2	4.8%	5	11.9%	3	7.1%	0	0.0%
SPE-220	1	14	11	5	35.7%	3	21.4%	1	7.1%	0	0.0%	2	14.3%	1	7.1%	2	14.3%	0	0.0%
otal FY2015	332	6410	4810	1609	25.1%	1542	24.1%	957	14.9%	249	3.9%	450	7.0%	1109	17.3%	491	7.7%	3	0.0%

Math & Science	Total Number of	Total Enrollment		Receiv	/ed an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	ndrew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Math & Science	е		•																
Summer 2014	50	801	675	227	28.3%	215	26.8%	141	17.6%	46	5.7%	44	5.5%	68	8.5%	58	7.2%	2	0.2%
BIO-050	1	18	17	14	77.8%	1	5.6%	1	5.6%	0	0.0%	1	5.6%	0	0.0%	1	5.6%	0	0.0%
BIO-100	6	104	91	25	24.0%	37	35.6%	22	21.2%	2	1.9%	5	4.8%	7	6.7%	6	5.8%	0	0.0%
BIO-150	1	17	14	10	58.8%	4	23.5%	0	0.0%	0	0.0%	0	0.0%	3	17.6%	0	0.0%	0	0.0%
BIO-160	1	13	13	7	53.8%	5	38.5%	1	7.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BIO-225	2	28	25	14	50.0%	5	17.9%	5	17.9%	1	3.6%	0	0.0%	0	0.0%	3	10.7%	0	0.0%
BIO-226	2	39	37	17	43.6%	12	30.8%	5	12.8%	1	2.6%	2	5.1%	0	0.0%	2	5.1%	0	0.0%
BIO-235	2	28	25	11	39.3%	7	25.0%	6	21.4%	0	0.0%	1	3.6%	2	7.1%	1	3.6%	0	0.0%
CHM-111	2	22	16	4	18.2%	10	45.5%	2	9.1%	0	0.0%	0	0.0%	3	13.6%	3	13.6%	0	0.0%
CHM-120	1	8	6	1	12.5%	3	37.5%	2	25.0%	0	0.0%	0	0.0%	1	12.5%	1	12.5%	0	0.0%
CHM-150	1	22	18	5	22.7%	3	13.6%	5	22.7%	3	13.6%	2	9.1%	1	4.5%	3	13.6%	0	0.0%
CHM-151	1	23	21	5	21.7%	6	26.1%	5	21.7%	2	8.7%	3	13.0%	2	8.7%	0	0.0%	0	0.0%
ESC-102	1	27	22	5	18.5%	2	7.4%	11	40.7%	1	3.7%	3	11.1%	2	7.4%	3	11.1%	0	0.0%
GIS-095	1	5	5	5	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAT-005	3	48	44	17	35.4%	13	27.1%	3	6.3%	4	8.3%	7	14.6%	3	6.3%	1	2.1%	0	0.0%
MAT-006	5	72	53	21	29.2%	13	18.1%	13	18.1%	2	2.8%	4	5.6%	11	15.3%	8	11.1%	0	0.0%
MAT-116	2	38	32	7	18.4%	10	26.3%	8	21.1%	5	13.2%	2	5.3%	3	7.9%	3	7.9%	0	0.0%
MAT-118	1	9	6	2	22.2%	2	22.2%	2	22.2%	0	0.0%	0	0.0%	2	22.2%	1	11.1%	0	0.0%
MAT-125	5	75	60	25	33.3%	18	24.0%	11	14.7%	2	2.7%	3	4.0%	12	16.0%	3	4.0%	1	1.3%
MAT-130	3	57	47	9	15.8%	22	38.6%	9	15.8%	4	7.0%	2	3.5%	5	8.8%	5	8.8%	1	1.8%
MAT-132	1	15	14	0	0.0%	8	53.3%	3	20.0%	3	20.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
MAT-140	1	15	12	3	20.0%	5	33.3%	4	26.7%	0	0.0%	0	0.0%	2	13.3%	1	6.7%	0	0.0%
MAT-210	2	32	22	7	21.9%	9	28.1%	3	9.4%	1	3.1%	2	6.3%	1	3.1%	9	28.1%	0	0.0%
MAT-211	1	30	28	1	3.3%	3	10.0%	11	36.7%	7	23.3%	6	20.0%	1	3.3%	1	3.3%	0	0.0%
MAT-241	2	38	33	8	21.1%	15	39.5%	5	13.2%	4	10.5%	1	2.6%	2	5.3%	3	7.9%	0	0.0%
PHY-115	2	18	14	4	22.2%	2	11.1%	4	22.2%	4	22.2%	0	0.0%	4	22.2%	0	0.0%	0	0.0%
Fall 2014	129	2801	2160	660	23.6%	705	25.2%	496	17.7%	170	6.1%	128	4.6%	462	16.5%	179	6.4%	1	0.0%
BIO-050	3	66	59	42	63.6%	10	15.2%	1	1.5%	2	3.0%	4	6.1%	2	3.0%	5	7.6%	0	0.0%
BIO-100	20	452	355	103	22.8%	123	27.2%	78	17.3%	23	5.1%	28	6.2%	66	14.6%	31	6.9%	0	0.0%
BIO-111	1	11	10	3	27.3%	4	36.4%	3	27.3%	0	0.0%	0	0.0%	1	9.1%	0	0.0%	0	0.0%
BIO-116	1	22	21	15	68.2%	3	13.6%	3	13.6%	0	0.0%	0	0.0%	1	4.5%	0	0.0%	0	0.0%
BIO-120	1	16	16	7	43.8%	3	18.8%	1	6.3%	4	25.0%	1	6.3%	0	0.0%	0	0.0%	0	0.0%
BIO-130	6	115	91	27	23.5%	41	35.7%	16	13.9%	3	2.6%	4	3.5%	14	12.2%	10	8.7%	0	0.0%
BIO-160	1	21	15	5	23.8%	1	4.8%	7	33.3%	2	9.5%	0	0.0%	6	28.6%	0	0.0%	0	0.0%
BIO-225	9	196	137	46	23.5%	43	21.9%	22	11.2%	8	4.1%	18	9.2%	50	25.5%	9	4.6%	0	0.0%
BIO-226	4	79	71	36	45.6%	23	29.1%	11	13.9%	1	1.3%	0	0.0%	6	7.6%	2	2.5%	0	0.0%
BIO-235	4	71	58	9	12.7%	18	25.4%	16	22.5%	10	14.1%	5	7.0%	10	14.1%	3	4.2%	0	0.0%
CHM-111	6	144	114	22	15.3%	41	28.5%	29	20.1%	15	10.4%	7	4.9%	16	11.1%	14	9.7%	0	0.0%
CHM-120	2	55	48	15	27.3%	14	25.5%	14	25.5%	4	7.3%	1	1.8%	3	5.5%	4	7.3%	0	0.0%
CHM-150	6	133	108	29	21.8%	43	32.3%	19	14.3%	14	10.5%	3	2.3%	21	15.8%	4	3.0%	0	0.0%
CHM-151	1	19	12	1	5.3%	1	5.3%	8	42.1%	2	10.5%	0	0.0%	3	15.8%	4	21.1%	0	0.0%
CHM-243	1	24	15	2	8.3%	6	25.0%	3	12.5%	4	16.7%	0	0.0%	7	29.2%	2	8.3%	0	0.0%
CHM-253	1	24	16	3	12.5%	9	37.5%	2	8.3%	2	8.3%	0	0.0%	6	25.0%	2	8.3%	0	0.0%
ESC-100		28	26	11	39.3%	11	39.3%	2	7.1%	1	3.6%	1	3.6%	2	7.1%	0	0.0%	0	0.0%
ESC-102	4	101	81	29	28.7%	29	28.7%	16	15.8%	4	4.0%	3	3.0%	15	14.9%	5	5.0%	0	0.0%
ESC-104	1	17	11	4	23.5%	3	17.6%	2	11.8%	1	5.9%	1	5.9%	6	35.3%	0	0.0%	0	0.0%
MAT-001	1	30	16	6	20.0%	5	16.7%	4	13.3%	1	3.3%	0	0.0%	8	26.7%	6	20.0%	0	0.0%
MAT-005	9	217	148	44	20.3%	42	19.4%	43	19.8%	7	3.2%	12	5.5%	52	24.0%	17	7.8%	0	0.0%
MAT-006	10	182	136	32	17.6%	43	23.6%	40	22.0%	10	5.5%	11	6.0%	32	17.6%	14	7.7%	0	0.0%

Math & Science	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	ndrew		d by 10th Day		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
MAT-008	1	22	19	9	40.9%	3	13.6%	7	31.8%	0	0.0%	0	0.0%	1	4.5%	2	9.1%	0	0.0%
MAT-116	3	83	70	19	22.9%	27	32.5%	19	22.9%	4	4.8%	1	1.2%	11	13.3%	2	2.4%	0	0.0%
MAT-118	1	26	24	3	11.5%	14	53.8%	7	26.9%	0	0.0%	0	0.0%	1	3.8%	1	3.8%	0	0.0%
MAT-125	5	129	98	24	18.6%	33	25.6%	22	17.1%	12	9.3%	6	4.7%	22	17.1%	9	7.0%	1	0.8%
MAT-130	6	138	112	39	28.3%	26	18.8%	32	23.2%	7	5.1%	8	5.8%	19	13.8%	7	5.1%	0	0.0%
MAT-132	1	14	11	4	28.6%	4	28.6%	2	14.3%	1	7.1%	0	0.0%	3	21.4%	0	0.0%	0	0.0%
MAT-140	1	21	9	1	4.8%	1	4.8%	2	9.5%	2	9.5%	3	14.3%	7	33.3%	5	23.8%	0	0.0%
MAT-151	1	17	15	5	29.4%	5	29.4%	5	29.4%	0	0.0%	0	0.0%	1	5.9%	1	5.9%	0	0.0%
MAT-210	3	63	48	18	28.6%	17	27.0%	10	15.9%	3	4.8%	0	0.0%	8	12.7%	7	11.1%	0	0.0%
MAT-211	2	51	29	2	3.9%	10	19.6%	5	9.8%	5	9.8%	7	13.7%	21	41.2%	1	2.0%	0	0.0%
MAT-241	2	42	32	12	28.6%	10	23.8%	6	14.3%	3	7.1%	1	2.4%	8	19.0%	2	4.8%	0	0.0%
MAT-242	1	18	12	7	38.9%	0	0.0%	5	27.8%	0	0.0%	0	0.0%	5	27.8%	1	5.6%	0	0.0%
MAT-255	1	8	8	2	25.0%	4	50.0%	2	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PHY-110	2	32	26	4	12.5%	7	21.9%	10	31.3%	3	9.4%	2	6.3%	3	9.4%	3	9.4%	0	0.0%
PHY-115	1	28	13	1	3.6%	2	7.1%	5	17.9%	5	17.9%	0	0.0%	13	46.4%	2	7.1%	0	0.0%
PHY-130	2	47	41	11	23.4%	16	34.0%	11	23.4%	2	4.3%	1	2.1%	5	10.6%	1	2.1%	0	0.0%
PHY-141	1	18	12	4	22.2%	4	22.2%	3	16.7%	1	5.6%	0	0.0%	4	22.2%	2	11.1%	0	0.0%
PHY-239	1	20	17	4	20.0%	6	30.0%	3	15.0%	4	20.0%	0	0.0%	2	10.0%	1	5.0%	0	0.0%
PHY-240	1	1	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%
Spring 2015	119	2426	1936	525	21.6%	603	24.9%	489	20.2%	158	6.5%	163	6.7%	376	15.5%	111	4.6%	1	0.0%
BIO-050	2	44	37	21	47.7%	9	20.5%	2	4.5%	0	0.0%	5	11.4%	4	9.1%	3	6.8%	0	0.0%
BIO-100	13	251	200	36	14.3%	54	21.5%	56	22.3%	22	8.8%	32	12.7%	40	15.9%	11	4.4%	0	0.0%
BIO-111	1	13	12	3	23.1%	5	38.5%	3	23.1%	0	0.0%	1	7.7%	0	0.0%	1	7.7%	0	0.0%
BIO-116	2	40	37	13	32.5%	18	45.0%	5	12.5%	1	2.5%	0	0.0%	3	7.5%	0	0.0%	0	0.0%
BIO-130	4	62	55	16	25.8%	20	32.3%	10	16.1%	6	9.7%	3	4.8%	4	6.5%	3	4.8%	0	0.0%
BIO-160	1	28	18	6	21.4%	5	17.9%	2	7.1%	3	10.7%	2	7.1%	8	28.6%	2	7.1%	0	0.0%
BIO-212	2	6	6	3	50.0%	2	33.3%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BIO-225	6	144	104	26	18.1%	32	22.2%	26	18.1%	8	5.6%	12	8.3%	33	22.9%	7	4.9%	0	0.0%
BIO-226	7	117	108	53	45.3%	36	30.8%	16	13.7%	1	0.9%	2	1.7%	8	6.8%	1	0.9%	0	0.0%
BIO-235	4	93	77	17	18.3%	38	40.9%	14	15.1%	6	6.5%	1	1.1%	13	14.0%	3	3.2%	1	1.1%
CHM-101	2	41	38	8	19.5%	14	34.1%	13	31.7%	3	7.3%	0	0.0%	3	7.3%	0	0.0%	0	0.0%
CHM-111	4	77	58	9	11.7%	23	29.9%	17	22.1%	4	5.2%	5	6.5%	11	14.3%	8	10.4%	0	0.0%
CHM-120	1	24	23	9	37.5%	6	25.0%	6	25.0%	1	4.2%	1	4.2%	1	4.2%	0	0.0%	0	0.0%
CHM-121	2	44	44	12	27.3%	20	45.5%	9	20.5%	3	6.8%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CHM-150-	2	47	28	3	6.4%	8	17.0%	10	21.3%	6	12.8%	1	2.1%	17	36.2%	2	4.3%	0	0.0%
CHM-151	3	72	63	15	20.8%	21	29.2%	16	22.2%	7	9.7%	4	5.6%	5	6.9%	4	5.6%	0	0.0%
CHM-244	1	13	12	1	7.7%	4	30.8%	5	38.5%	1	7.7%	1	7.7%	1	7.7%	0	0.0%	0	0.0%
CHM-254	1	13	12	7	53.8%	4	30.8%	0	0.0%	1	7.7%	0	0.0%	1	7.7%	0	0.0%	0	0.0%
CIM-060	1	16	14	/	43.8%	3	18.8%	2	12.5%	2	12.5%	0	0.0%	2	12.5%	0	0.0%	0	0.0%
CIM-094	1	12	10	8	66.7%	0	0.0%	2	16.7%	0	0.0%	0	0.0%	2	16.7%	0	0.0%	0	0.0%
ESC-100	1	28	26	12	42.9%	7	25.0%	5	17.9%	0	0.0%	2	7.1%	0	0.0%	2	7.1%	0	0.0%
ESC-102	4	109	93	24	22.0%	36	33.0%	20	18.3%	8	7.3%	5	4.6%	8	7.3%	8	7.3%	0	0.0%
ESC-104	1	28	14	1	3.6%	4	14.3%	5	17.9%	1	3.6%	3	10.7%	10	35.7%	4	14.3%	0	0.0%
MAT-001	1	17	14	6	35.3%	2	11.8%	5	29.4%	0	0.0%	1	5.9%	2	11.8%	1	5.9%	0	0.0%
MAT-005	7	134	97	21	15.7%	26	19.4%	18	13.4%	12	9.0%	20	14.9%	24	17.9%	13	9.7%	0	0.0%
MAT-006	9	170	110	22	12.9%	38	22.4%	34	20.0%	5	2.9%	11	6.5%	54	31.8%	6	3.5%	0	0.0%
MAT-008	1	29	21	12	41.4%	2	6.9%	4	13.8%	0	0.0%	3	10.3%	5	17.2%	3	10.3%	0	0.0%
MAT-090	1	9	8	1	11.1%	4	44.4%	2	22.2%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
MAT-116	3	85	66	16	18.8%	24	28.2%	16	18.8%	6	7.1%	4	4.7%	12	14.1%	7	8.2%	0	0.0%
MAT-125	6	149	123	44	29.5%	26	17.4%	35	23.5%	6	4.0%	12	8.1%	24	16.1%	2	1.3%	0	0.0%
MAT-130	4	91	66	15	16.5%	22	24.2%	21	23.1%	6	6.6%	2	2.2%	22	24.2%	3	3.3%	0	0.0%

Math & Science	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Receiv	ved a C	Recei	ved a D	Recei	ved a F	Witi	ndrew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
MAT-132	1	17	10	1	5.9%	4	23.5%	1	5.9%	2	11.8%	2	11.8%	6	35.3%	1	5.9%	0	0.0%
MAT-140	1	21	15	2	9.5%	5	23.8%	6	28.6%	0	0.0%	2	9.5%	6	28.6%	0	0.0%	0	0.0%
MAT-210	2	49	31	0	0.0%	6	12.2%	11	22.4%	10	20.4%	4	8.2%	11	22.4%	7	14.3%	0	0.0%
MAT-211	2	56	45	6	10.7%	8	14.3%	11	19.6%	11	19.6%	9	16.1%	9	16.1%	2	3.6%	0	0.0%
MAT-218	1	23	19	3	13.0%	4	17.4%	12	52.2%	0	0.0%	0	0.0%	4	17.4%	0	0.0%	0	0.0%
MAT-241	1	22	19	6	27.3%	5	22.7%	4	18.2%	1	4.5%	3	13.6%	2	9.1%	1	4.5%	0	0.0%
MAT-242	1	23	20	8	34.8%	4	17.4%	6	26.1%	0	0.0%	2	8.7%	3	13.0%	0	0.0%	0	0.0%
MAT-243	1	23	23	14	60.9%	3	13.0%	6	26.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MAT-245	1	18	17	8	44.4%	5	27.8%	4	22.2%	0	0.0%	0	0.0%	1	5.6%	0	0.0%	0	0.0%
PHY-110	2	33	25	4	12.1%	5	15.2%	11	33.3%	2	6.1%	3	9.1%	6	18.2%	2	6.1%	0	0.0%
PHY-115	2	50	41	3	6.0%	18	36.0%	9	18.0%	8	16.0%	3	6.0%	8	16.0%	1	2.0%	0	0.0%
PHY-131	2	32	31	7	21.9%	13	40.6%	9	28.1%	0	0.0%	2	6.3%	0	0.0%	1	3.1%	0	0.0%
PHY-140	2	28	26	11	39.3%	4	14.3%	7	25.0%	4	14.3%	0	0.0%	2	7.1%	0	0.0%	0	0.0%
PHY-142	1	11	10	2	18.2%	1	9.1%	7	63.6%	0	0.0%	0	0.0%	0	0.0%	1	9.1%	0	0.0%
PHY-240	1	14	13	3	21.4%	5	35.7%	5	35.7%	0	0.0%	0	0.0%	0	0.0%	1	7.1%	0	0.0%
otal FY2015	298	6028	4771	1412	23.4%	1523	25.3%	1126	18.7%	374	6.2%	335	5.6%	906	15.0%	348	5.8%	4	0.1%

Social Science & Education	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Rece	ved a D	Recel	ved a F	With	ndrew		d by 10th Day		P's, I's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Social Science	e & Educat	ion	8																
Summer 2014	71	968	795	433	44.7%	197	20.4%	102	10.5%	23	2.4%	32	3.3%	84	8.7%	89	9.2%	8	0.8%
ANT-200	2	49	47	33	67.3%	5	10.2%	5	10.2%	2	4.1%	2	4.1%	0	0.0%	2	4.1%	0	0.0%
CJS-054	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-056	1	10	10	10	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-057	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-064	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-071	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-150	1	12	11	6	50.0%	3	25.0%	2	16.7%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
CJS-158	1	13	12	7	53.8%	3	23.1%	2	15.4%	0	0.0%	0	0.0%	1	7.7%	0	0.0%	0	0.0%
CJS-166	1	9	7	2	22.2%	4	44.4%	0	0.0%	1	11.1%	0	0.0%	0	0.0%	2	22.2%	0	0.0%
ECE-102	1	13	12	9	69.2%	1	7.7%	0	0.0%	1	7.7%	1	7.7%	1	7.7%	0	0.0%	0	0.0%
ECO-231	3	61	46	28	45.9%	12	19.7%	4	6.6%	0	0.0%	2	3.3%	6	9.8%	9	14.8%	0	0.0%
ECO-232	1	27	20	6	22.2%	7	25.9%	6	22.2%	0	0.0%	1	3.7%	1	3.7%	6	22.2%	0	0.0%
EDU-103	1	9	7	4	44.4%	1	11.1%	2	22.2%	0	0.0%	0	0.0%	1	11.1%	1	11.1%	0	0.0%
EDU-190	1	10	9	6	60.0%	1	10.0%	1	10.0%	0	0.0%	1	10.0%	0	0.0%	1	10.0%	0	0.0%
GEO-140	1	21	17	7	33.3%	5	23.8%	2	9.5%	1	4.8%	2	9.5%	2	9.5%	2	9.5%	0	0.0%
HED-102	1	12	12	7	58.3%	3	25.0%	2	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	-	0.0%
HED-178	2	35	31	19	54.3%	7	20.0%	3	8.6%	2	5.7%	0	0.0%	4	11.4%	0	0.0%	0	0.0%
HED-200	1	8	7	2	25.0%	1	12.5%	1	12.5%	1	12.5%	2	25.0%	1 0	12.5%	0	0.0%	0	0.0%
HED-290	1	27	27	12	44.4%	5	18.5%	8	29.6%		0.0%	2	7.4%		0.0%	0	0.0%	0	
HIS-153	2	43	30	12	27.9%	11	25.6%	4	9.3%	1	2.3%	2	4.7%	10 1	23.3% 5.9%	3	7.0%	0	0.0%
HIS-155	2	17	14	7	41.2%	3 10	17.6%	2	11.8%	1	0.0%	2	11.8% 4.3%	1	5.9% 4.3%	2	11.8% 4.3%	0	0.0%
HIS-250 HIS-252	2	23 13	21 12	0	39.1% 0.0%	7	43.5% 53.8%	0	0.0% 23.1%	1	4.3% 7.7%	1	7.7%	1	4.3%	0	4.3 <i>%</i>	0	0.0%
HI3-252 HSP-053	1	4	4	4	100.0%	0	0.0%	0	23.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HSP-053	1	4	4	4	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
HSP-055	1	2	4	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%
HSP-056	1	2	1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	1	50.0%
HSP-065	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HSP-103	1	7	7	3	42.9%	3	42.9%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HSP-120	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HSP-122	1	6	5	5	83.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	16.7%	0	0.0%	0	0.0%
HUM-120	1	16	8	7	43.8%	0	0.0%	1	6.3%	0	0.0%	0	0.0%	3	18.8%	5	31.3%	0	0.0%
HUM-150	1	27	20	8	29.6%	8	29.6%	4	14.8%	0	0.0%	0	0.0%	4	14.8%	3	11.1%	0	0.0%
PED-119	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PED-209	1	14	12	10	71.4%	0	0.0%	1	7.1%	0	0.0%	1	7.1%	1	7.1%	1	7.1%	0	0.0%
PED-210	1	3	3	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	33.3%	0	0.0%	0	0.0%	2	66.7%
PED-285	1	8	7	4	50.0%	2	25.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%	1	12.5%	0	0.0%
PHI-232	1	17	14	8	47.1%	4	23.5%	1	5.9%	1	5.9%	0	0.0%	1	5.9%	2	11.8%	0	0.0%
PHI-270	1	21	14	5	23.8%	6	28.6%	3	14.3%	0	0.0%	0	0.0%	1	4.8%	6	28.6%	0	0.0%
PHI-280	2	43	32	20	46.5%	9	20.9%	2	4.7%	1	2.3%	0	0.0%	8	18.6%	3	7.0%	0	0.0%
POS-160	2	25	22	16	64.0%	1	4.0%	4	16.0%	1	4.0%	0	0.0%	1	4.0%	2	8.0%	0	0.0%
PSY-271	7	87	74	38	43.7%	21	24.1%	13	14.9%	0	0.0%	1	1.1%	9	10.3%	4	4.6%	1	1.1%
PSY-274	2	32	26	9	28.1%	9	28.1%	4	12.5%	0	0.0%	4	12.5%	2	6.3%	4	12.5%	0	0.0%
PSY-277	1	14	13	4	28.6%	5	35.7%	3	21.4%	1	7.1%	0	0.0%	0	0.0%	1	7.1%	0	0.0%
PSY-278	1	17	11	5	29.4%	2	11.8%	2	11.8%	1	5.9%	1	5.9%	5	29.4%	1	5.9%	0	0.0%
PSY-279	1	27	25	12	44.4%	9	33.3%	2	7.4%	1	3.7%	1	3.7%	0	0.0%	2	7.4%	0	0.0%
REC-181	1	8	5	5	62.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	2	25.0%	0	0.0%
REC-290	1	9	6	6	66.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	3	33.3%	0	0.0%

Social Science & Education	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Rece	ived a C	Recei	ved a D	Recei	ved a F	With	ndrew		d by 10th ay		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
SFS-101	2	30	28	21	70.0%	3	10.0%	3	10.0%	0	0.0%	1	3.3%	0	0.0%	2	6.7%	0	0.0%
SOC-280	4	94	66	36	38.3%	18	19.1%	8	8.5%	2	2.1%	2	2.1%	13	13.8%	15	16.0%	0	0.0%
SOC-286	1	8	7	1	12.5%	3	37.5%	1	12.5%	2	25.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
SOS-050	1	13	10	1	7.7%	5	38.5%	2	15.4%	1	7.7%	1	7.7%	2	15.4%	1	7.7%	0	0.0%
Fall 2014	202	3926	3243	1511	38.5%	848	21.6%	464	11.8%	150	3.8%	228	5.8%	477	12.1%	206	5.2%	42	1.1%
ANT-200	4	76	66	46	60.5%	11	14.5%	4	5.3%	2	2.6%	3	3.9%	7	9.2%	3	3.9%	0	0.0%
CJS-054	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-056	1	5	4	4	80.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%
CJS-057	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-064	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-071	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CJS-150	4	87	71	18	20.7%	21	24.1%	18	20.7%	6	6.9%	8	9.2%	11	12.6%	5	5.7%	0	0.0%
CJS-152	1	22	18	6	27.3%	8	36.4%	1	4.5%	2	9.1%	1	4.5%	2	9.1%	2	9.1%	0	0.0%
CJS-153 CJS-156	1	20 28	19 22	16 10	80.0% 35.7%	1 7	5.0% 25.0%	1	5.0% 14.3%	0	0.0% 0.0%	1	5.0% 3.6%	2	0.0% 7.1%	4	5.0% 14.3%	0	0.0% 0.0%
CJS-158 CJS-158	1	28 16	12	7		3		4		1	6.3%	1	6.3%	2	12.5%	2	14.3%	0	0.0%
CJS-158 CJS-160	1	17	12	7	43.8% 41.2%	4	18.8% 23.5%	4	0.0% 23.5%	0	0.3%	0	0.3%	2	5.9%	2	5.9%	0	0.0%
CJS-166	2	31	29	17	54.8%	7	22.6%	3	9.7%	1	3.2%	1	3.2%	2	6.5%	0	0.0%	0	0.0%
ECE-051	1	22	29	6	27.3%	9	40.9%	5	22.7%	0	0.0%	0	0.0%	1	4.5%	1	4.5%	0	0.0%
ECE-095	2	24	20	14	58.3%	4	16.7%	3	12.5%	1	4.2%	0	0.0%	1	4.2%	1	4.2%	0	0.0%
ECE-100	2	32	25	8	25.0%	12	37.5%	4	12.5%	0	0.0%	1	3.1%	6	18.8%	1	3.1%	0	0.0%
ECE-102	1	15	14	5	33.3%	7	46.7%	2	13.3%	0	0.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
ECE-110	2	57	48	17	29.8%	21	36.8%	7	12.3%	2	3.5%	1	1.8%	9	15.8%	0	0.0%	0	0.0%
ECE-125	1	1	10	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ECO-130	2	37	28	9	24.3%	6	16.2%	10	27.0%	0	0.0%	3	8.1%	7	18.9%	2	5.4%	0	0.0%
ECO-231	8	196	146	53	27.0%	44	22.4%	27	13.8%	13	6.6%	9	4.6%	40	20.4%	10	5.1%	0	0.0%
ECO-232	3	53	48	27	50.9%	10	18.9%	7	13.2%	4	7.5%	0	0.0%	1	1.9%	4	7.5%	0	0.0%
EDU-025	1	6	6	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
EDU-100	3	52	42	32	61.5%	4	7.7%	2	3.8%	1	1.9%	3	5.8%	9	17.3%	1	1.9%	0	0.0%
EDU-103	1	12	10	5	41.7%	4	33.3%	1	8.3%	0	0.0%	0	0.0%	0	0.0%	2	16.7%	0	0.0%
EDU-190	2	31	26	10	32.3%	13	41.9%	1	3.2%	1	3.2%	1	3.2%	4	12.9%	1	3.2%	0	0.0%
EDU-200	1	15	12	6	40.0%	2	13.3%	4	26.7%	0	0.0%	0	0.0%	1	6.7%	2	13.3%	0	0.0%
EDU-210	1	15	15	10	66.7%	4	26.7%	0	0.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%	0	0.0%
GEO-140	3	65	57	25	38.5%	14	21.5%	11	16.9%	2	3.1%	5	7.7%	4	6.2%	4	6.2%	0	0.0%
HED-046	2	23	16	7	30.4%	2	8.7%	2	8.7%	1	4.3%	4	17.4%	6	26.1%	1	4.3%	0	0.0%
HED-102	6	169	143	49	29.0%	62	36.7%	14	8.3%	10	5.9%	8	4.7%	18	10.7%	8	4.7%	0	0.0%
HED-178	10	209	183	86	41.1%	60	28.7%	28	13.4%	4	1.9%	5	2.4%	22	10.5%	4	1.9%	0	0.0%
HED-179-	1	6	6	1	16.7%	3	50.0%	2	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HED-200	3	65	46	11	16.9%	17	26.2%	13	20.0%	2	3.1%	3	4.6%	11	16.9%	8	12.3%	0	0.0%
HED-270	1	20	16	14	70.0%	2	10.0%	0	0.0%	0	0.0%	0	0.0%	3	15.0%	1	5.0%	0	0.0%
HED-290	2	49	44	26	53.1%	9	18.4%	5	10.2%	1	2.0%	3	6.1%	3	6.1%	2	4.1%	0	0.0%
HIS-150	2	10	7	3	30.0%	3	30.0%	0	0.0%	0	0.0%	1	10.0%	2	20.0%	1	10.0%	0	0.0%
HIS-153 HIS-155	3	53	44	16	30.2%	18	34.0%	7	13.2%	0	0.0% 4.7%	3 13	5.7%	3 15	5.7%	6	11.3% 9.4%	0	0.0%
HIS-155 HIS-156	5 4	106	81	24	22.6%	24	22.6%	15 11	14.2%	5	4.7%	4	12.3% 6.7%	15	14.2% 20.0%	10 3	9.4% 5.0%	0	0.0% 0.0%
HIS-156 HIS-250	4	60 72	45 60	19	31.7%	8	13.3% 22.2%		18.3%	3	5.0% 2.8%	4	6.7% 4.2%	6	20.0%	3	5.0% 8.3%	0	0.0%
HIS-250 HIS-252	4	93	60 66	26 12	36.1% 12.9%	16 19	22.2%	13 22	18.1% 23.7%	2 10	2.8%	3	4.2%	21	8.3% 22.6%	6	6.5%	0	0.0%
HIS-252 HSP-053	5 1	93	10	7	63.6%	3	20.4%	0	0.0%	0	0.0%	0	0.0%	21	9.1%	0	0.0%	0	0.0%
HSP-053	1	11	10	0	03.0%	3 0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	9.1%	0	0.0%	10	90.9%
HSP-055	1	8	6	4	50.0%	1	12.5%	1	12.5%	0	0.0%	0	0.0%	1	12.5%	1	12.5%	0	90.9%
HSP-056	1	8	6	4	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	1	12.5%	6	75.0%

Division Course Sections Beginning of Term End of Term # % %	# % 0 0.09 <tr< th=""><th>%</th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th>lved a C</th><th>Rece</th><th>ved a B</th><th>1100001</th><th>ved an A</th><th>Recen</th><th>Enrollment</th><th>Enrollment</th><th>Total Number of</th><th>Social Science & Education</th></tr<>	%								lved a C	Rece	ved a B	1100001	ved an A	Recen	Enrollment	Enrollment	Total Number of	Social Science & Education
HSP-101 1 5 5 3 60.0% 1 20.0% 0 0.0% 0	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09		#	%	#	%	#	%	#	%	#	%	#	%	#	End of Term	Beginning of Term	Course Sections	
HSP-103 2 43 36 21 48.8% 9 20.9% 4 9.3% 1 2.3% 4 9.3% 3 7.0% HSP-122 1 13 10 7 53.8% 3 20.0% 4 13.3% 2 6.7% 0 0.0% <td>0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09</td> <td>0.0%</td> <td>0</td> <td>35.7%</td> <td>5</td> <td>7.1%</td> <td>1</td> <td>0.0%</td> <td>0</td> <td>14.3%</td> <td>2</td> <td>7.1%</td> <td>1</td> <td>35.7%</td> <td>5</td> <td>9</td> <td>14</td> <td>2</td> <td>HSP-065</td>	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09	0.0%	0	35.7%	5	7.1%	1	0.0%	0	14.3%	2	7.1%	1	35.7%	5	9	14	2	HSP-065
HSP-120 2 30 28 19 63.3% 3 10.0% 4 13.3% 2 6.7% 0 0.0% 0 0.0% 2 6.7% HSP-120 1 13 10 7 58.8% 3 23.1% 0 0.0% 0 0.0% 0 0.0% 1 16.7% 0 0.0% PED-117 1 1 1 1 100.0% 0 0.0% 0 <td>0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09</td> <td>0.0%</td> <td>0</td> <td>0.0%</td> <td>0</td> <td>0.0%</td> <td>0</td> <td>0.0%</td> <td>0</td> <td>20.0%</td> <td>1</td> <td></td> <td></td> <td>60.0%</td> <td>3</td> <td>5</td> <td>5</td> <td>1</td> <td>HSP-101</td>	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09	0.0%	0	0.0%	0	0.0%	0	0.0%	0	20.0%	1			60.0%	3	5	5	1	HSP-101
HSP-122 1 13 10 7 58.8% 3 23.1% 0 0.0% 0	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09	7.0%	3	9.3%	4	2.3%	1	2.3%		9.3%	4	20.9%		48.8%	21	36	43	2	HSP-103
PED-116 1 6 5 5 83.3% 0 0.0% 0	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09				-														
PED-117 1 1 1 100.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 1 1.3% 1 1.7% 1.5% 2 1.1% 2 1.1% 3 1.13% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09 0 0.09								-									•	
PED-141 5 77 75 75 97.4% 0 0.0% 0 0.0% 1 1.3% 1 1.3% PED-172 1 5 5 2 40.0% 2 40.0% 0 0.0% 1 20.0% 0 0.0% 1 1.3% 0 0.0% 0 0.0% 1 20.0% 0 0.0%	0 0.09 0 0.09 0 0.09 0 0.09 0 0.09												-				-		
PED-172 1 5 5 2 40.0% 2 40.0% 0 0.0% 1 20.0% 0 0.0% P PED-183 1 13 7 1 7.7% 2 15.4% 4 30.0% 0 0.0% 5 38.5% 1 7.7% PED-209 1 17/4 155 116 66.7% 2 11% 5 2.9% 2 1.1% 3 0.0% 0 0.0% </td <td>0 0.0% 0 0.0% 0 0.0%</td> <td></td> <td>-</td> <td></td> <td>-</td> <td></td> <td>•</td> <td></td>	0 0.0% 0 0.0% 0 0.0%		-		-													•	
PED-183 1 13 7 1 7.% 2 15.4% 4 30.8% 0 0.0% 5 38.5% 1 7.7% PED.209 1 174 155 116 66.7% 2 1.1% 5 2.9% 2 1.1% 30 17.2% 19 10.9% 0 0.0% PED.206 1 6 6 6 0.0% 0 0.0% 1 1.6% 2.3	0 0.0% 0 0.0%						-												
PED-209 1 174 155 116 66.7% 2 1.1% 5 2.9% 2 1.1% 30 17.2% 19 10.9% 0 0.0% PED-220 2 29 26 0 0.0%	0 0.0%		-																
PED-210 2 29 26 0 0.0% 0 <t< td=""><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>					-														
PED-226 1 6 6 100,0% 0 0,0%	19 00.0		-															•	
PED-227 1 14 14 14 100 0% 0 0.0% 0	0 0.0%																		
PED-285 1 13 10 3 23.1% 6 46.2% 1 7.7% 0 0.0% 0 0.0% 3 23.1% 0 0.0% POS-160 5 86 75 43 50.0% 18 20.9% 7 8.1% 2 2.3% 5 5.8% 4 4.7% 7 8.1% POS-161 1 1 1 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 11 17.5% 1 1.6% 1 1.83% 10 10.83% 11 18.3% 11 17.5% 11 1.6% 1 1.5% 12 14.3% 12 18.2% 1 1.5% 12 11.3% 12 18.5% 11 1.5% <td>0 0.0% 0 0.0%</td> <td></td> <td>-</td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td>-</td> <td></td> <td>-</td> <td></td> <td>-</td> <td>•</td> <td></td>	0 0.0% 0 0.0%		-		-						-		-		-		-	•	
POS-160 5 86 75 43 50.0% 18 20.9% 7 8.1% 2 2.3% 5 5.8% 4 4.7% 7 8.1% POS-161 1 1 1 0 0.0%	0 0.0%		-		-				-										
POS-161 1 1 1 0 0.0% 1 100.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 11 17.5% 1 1.6% POS-264 1 12 12 9 75.0% 2 16.7% 0 0.0% 0 0.0% 1 8.3% 0 0.0% 0 0.0% 1 1.8.3% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% <td>0 0.0%</td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td>•</td> <td></td>	0 0.0%				-													•	
POS-162 3 63 51 17 27.0% 14 22.2% 6 9.5% 5 7.9% 9 14.3% 11 17.5% 1 1.6% POS-264 1 12 12 9 75.0% 2 16.7% 0 0.0% 0 0.0% 1 8.3% 0 0.0% 0 0.0% PSY-271 18 488 385 156 32.0% 12 23.0% 65 13.3% 30 6.1% 22 4.5% 60 12.3% 43 8.8% PSY-271 18 488 385 156 32.0% 112 21.8% 12 18.2% 1 1.5% 2 3.0% 6 5.5% 12 11.0% 4 3.7% PSY-274 5 109 93 49 45.0% 27 2.4.8% 8 7.3% 3 2.8% 1 1.9% 4 3.7% PSY-277 2 53 47 19 35.8% 12 2.16% 3.7 1.3 2.4.2% <td>0 0.09</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>1</td> <td>1</td> <td></td> <td></td>	0 0.09						-									1	1		
POS-264 1 12 12 9 75.0% 2 16.7% 0 0.0% 0 0.0% 1 8.3% 0 0.0% 0 0.0% PSY-271 18 488 385 156 32.0% 112 23.0% 65 13.3% 30 6.1% 22 4.5% 60 12.3% 43 8.8% PSY-273 3 66 54 18 27.3% 21 31.8% 12 18.2% 1 1.5% 2 3.0% 9 13.6% 3 4.5% PSY-274 5 109 93 49 45.0% 27 24.8% 3 5.7% 1 2.2% 0 0.00% 6 13.3% 4 8.9% PSY-275 2 53 47 19 35.8% 12 22.6% 13 24.5% 2 3.8% 1 1.9% 4 7.5% 2 3.8% PSY-278 5 106 91 61 57.5% 23 21.7% 4 3.8% 1 <t< td=""><td>0 0.09</td><td></td><td>-</td><td></td><td>-</td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td>51</td><td>63</td><td>•</td><td></td></t<>	0 0.09		-		-				-							51	63	•	
PSY-271 18 488 385 156 32.0% 112 23.0% 65 13.3% 30 6.1% 22 4.5% 60 12.3% 43 8.8% PSY-273 3 66 54 18 27.3% 21 31.8% 12 18.2% 1 1.5% 2 3.0% 9 13.6% 3 4.5% PSY-274 5 109 93 49 45.0% 27 24.8% 8 7.3% 3 2.8% 6 5.5% 12 11.0% 4 3.7% PSY-275 2 453 35 22 48.9% 8 17.8% 3 6.7% 1 2.2% 0 0.0% 6 13.3% 4 8.9% PSY-277 2 53 47 19 35.6 23 21.7% 4 3.8% 1 0.9% 2 1.9% 9 8.5% 6 5.7% PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6	0 0.0%																		
PSY-273 3 66 54 18 27.3% 21 31.8% 12 18.2% 1 1.5% 2 3.0% 9 13.6% 3 4.5% PSY-274 5 109 93 49 45.0% 27 24.8% 8 7.3% 3 2.8% 6 5.5% 12 11.0% 4 3.7% PSY-275 2 45 35 22 48.9% 8 17.8% 3 6.7% 1 2.2% 0 0.0% 6 13.3% 4 8.9% PSY-277 2 53 47 19 35.8% 12 22.6% 13 24.5% 2 3.8% 1 1.9% 4 7.5% 2 3.8% PSY-278 5 106 91 61 57.5% 23 21.7% 4 3.8% 1 0.9% 2 1.4% 8 5.4% SFS-101 10 192 151 54 28.1% 37 19.3% 15 7.8% 8 4.2% 37 19.	0 0.09				-														
PSY-274 5 109 93 49 45.0% 27 24.8% 8 7.3% 3 2.8% 6 5.5% 12 11.0% 4 3.7% PSY-275 2 45 35 22 48.9% 8 17.8% 3 6.7% 1 2.2% 0 0.0% 6 13.3% 4 8.9% PSY-277 2 53 47 19 35.8% 12 22.6% 13 24.5% 2 3.8% 1 1.9% 4 7.5% 2 3.8% PSY-278 5 106 91 61 57.5% 23 21.7% 4 3.8% 1 0.9% 2 1.9% 9 8.5% 6 5.7% PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6 4.0% 7 4.7% 36 18.8% 5.4% 5.4% SFS-102 1 0 9 0.0% 0 0.0% 0 0.0% 0 0.0% 1 <td>0 0.0%</td> <td></td>	0 0.0%																		
PSY-275 2 45 35 22 48.9% 8 17.8% 3 6.7% 1 2.2% 0 0.0% 6 13.3% 4 8.9% PSY-277 2 53 47 19 35.8% 12 22.6% 13 24.5% 2 3.8% 1 1.9% 4 7.5% 2 3.8% PSY-278 5 106 91 61 57.5% 23 21.7% 4 3.8% 1 0.9% 2 1.9% 9 8.5% 6 5.7% PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6 4.0% 7 4.7% 22 14.8% 8 5.4% SFS.101 10 192 151 54 28.1% 37 19.3% 15 7.8% 8 4.2% 37 19.3% 36 18.8% 5 2.6% SFS.102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0%	0 0.0%		-																
PSY-277 2 53 47 19 35.8% 12 22.6% 13 24.5% 2 3.8% 1 1.9% 4 7.5% 2 3.8% PSY-278 5 106 91 61 57.5% 23 21.7% 4 3.8% 1 0.9% 2 1.9% 9 8.5% 6 5.7% PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6 4.0% 7 4.7% 22 14.8% 8 5.4% SFS-101 10 192 151 54 28.1% 37 19.3% 15 7.8% 8 4.2% 37 19.3% 36 18.8% 5 2.6% SFS-102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0% 0 0.0% 2 10.0% 2 10.0% 2 10.0% 2 10.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 0 </td <td>1 2.29</td> <td></td> <td>4</td> <td></td>	1 2.29		4																
PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6 4.0% 7 4.7% 22 14.8% 8 5.4% SFS-101 10 192 151 54 28.1% 37 19.3% 15 7.8% 8 4.2% 37 19.3% 36 18.8% 5 2.6% SFS-102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0% 1 11.1% 4 44.4% SFS-102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0% 1 11.1% 4 44.4% SFS-103 2 20 16 12 60.0% 2 10.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0	0 0.0%		2		4		1		2						19	47	53	2	PSY-277
PSY-279 6 149 119 46 30.9% 36 24.2% 24 16.1% 6 4.0% 7 4.7% 22 14.8% 8 5.4% SFS-101 10 192 151 54 28.1% 37 19.3% 15 7.8% 8 4.2% 37 19.3% 36 18.8% 5 2.6% SFS-102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0% 0 0.0% 1 11.1% 4 44.4% SFS-103 2 20 16 12 60.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 0 0.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0%	0 0.0%	5.7%	6	8.5%	9	1.9%	2	0.9%	1	3.8%	4	21.7%	23	57.5%	61	91	106	5	PSY-278
SFS-102 1 9 4 3 33.3% 1 11.1% 0 0.0% 0 0.0% 1 11.1% 4 44.4% SFS-103 2 20 16 12 60.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 2 10.0% 2 10.0% 0 0.0%	0 0.0%	5.4%	8	14.8%	22	4.7%	7	4.0%	6	16.1%	24	24.2%	36		46	119	149	6	PSY-279
SFS-103 2 20 16 12 60.0% 2 10.0% 2 10.0% 0 0.0% 0 0.0% 2 10.0% 2 10.0% SLN-200 2 3 3 100.0% 0 0.0% 0 <td>0 0.0%</td> <td>2.6%</td> <td>5</td> <td>18.8%</td> <td>36</td> <td>19.3%</td> <td>37</td> <td>4.2%</td> <td>8</td> <td>7.8%</td> <td>15</td> <td>19.3%</td> <td>37</td> <td>28.1%</td> <td>54</td> <td>151</td> <td>192</td> <td>10</td> <td>SFS-101</td>	0 0.0%	2.6%	5	18.8%	36	19.3%	37	4.2%	8	7.8%	15	19.3%	37	28.1%	54	151	192	10	SFS-101
SLN-200 2 3 3 100.0% 0 0.0%	0 0.0%	44.4%	4	11.1%	1	0.0%	0	0.0%	0	0.0%	0	11.1%	1	33.3%	3	4	9	1	SFS-102
SOC-282 2 57 52 24 42.1% 13 22.8% 11 19.3% 2 3.5% 2 3.5% 5 8.8% 0 0.0% SOC-284 1 18 17 7 38.9% 5 27.8% 3 16.7% 2 11.1% 0 0.0% 1 5.6% 0 0.0% SOS-050 4 93 75 22 23.7% 24 25.8% 17 18.3% 8 8.6% 4 4.3% 14 15.1% 4 4.3% Spring 2015 215 4055 3405 1662 41.0% 859 21.2% 422 10.4% 120 3.0% 302 7.4% 472 11.6% 4.4% ANT-200 2 60 55 46 76.7% 3 5.0% 4 6.7% 0 0.0% 2 3.3% 2 3.3% 3 5.0%	0 0.0%	10.0%	2	10.0%	2	0.0%	0	0.0%	0	10.0%	2	10.0%	2	60.0%	12	16	20	2	SFS-103
SOC-284 1 18 17 7 38.9% 5 27.8% 3 16.7% 2 11.1% 0 0.0% 1 5.6% 0 0.0% SOS-050 4 93 75 22 23.7% 24 25.8% 17 18.3% 8 8.6% 4 4.3% 14 15.1% 4 4.3% Spring 2015 215 4055 3405 1662 41.0% 859 21.2% 422 10.4% 120 3.0% 302 7.4% 472 11.6% 178 4.4% ANT-200 2 60 55 46 76.7% 3 5.0% 4 6.7% 0 0.0% 2 3.3% 2 3.3% 3 5.0%	0 0.0%	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	100.0%	3	3	3	2	SLN-200
SOS-050 4 93 75 22 23.7% 24 25.8% 17 18.3% 8 8.6% 4 4.3% 14 15.1% 4 4.3% Spring 2015 ANT-200 215 4055 3405 1662 41.0% 859 21.2% 422 10.4% 120 3.0% 302 7.4% 472 11.6% 178 4.4% ANT-200 2 60 55 46 76.7% 3 5.0% 4 6.7% 0 0.0% 2 3.3% 2 3.3% 3 5.0%	0 0.0%	0.0%	0	8.8%	5	3.5%	2	3.5%		19.3%	11	22.8%	13	42.1%	24	52	57	2	SOC-282
Spring 2015 215 4055 3405 1662 41.0% 859 21.2% 422 10.4% 120 3.0% 302 7.4% 472 11.6% 178 4.4% ANT-200 2 60 55 46 76.7% 3 5.0% 4 6.7% 0 0.0% 2 3.3% 2 3.3% 3 5.0%	0 0.0%	0.0%	0	5.6%	1	0.0%	0	11.1%	2	16.7%	3	27.8%	5	38.9%	7	17	18	1	SOC-284
ANT-200 2 60 55 46 76.7% 3 5.0% 4 6.7% 0 0.0% 2 3.3% 2 3.3% 3 5.0%	0 0.0%							8.6%		18.3%	17		24						SOS-050
	40 1.09		178							10.4%	422	21.2%	859	41.0%	1662	3405	4055		
CJS-054 1 1 1 1 1 100.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0%	0 0.0%		-						-										
	0 0.09		-		-						-		-				·		
CJS-056 1 7 5 5 71.4% 0 0.0% 0 0.0% 0 0.0% 2 28.6% 0 0.0%	0 0.0%		-												-	-	'	•	
CJS-064 1 1 1 1 100.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0%	0 0.09		-		-											1	·		
CJS-071 1 1 1 100.0% 0 0.0%	0 0.0%		-										-			1		•	
CJS-104 2 4 4 100.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0%	0 0.0%				-														
CJS-150 2 44 38 6 13.6% 12 27.3% 7 15.9% 5 11.4% 8 18.2% 3 6.8% 3 6.8% C IS 152 2 44 38 6 13.6% 12 27.3% 7 15.9% 5 11.4% 8 18.2% 3 6.8% 3 6.8%	0 0.0%		-																
CJS-152 3 53 51 25 47.2% 16 30.2% 6 11.3% 1 1.9% 3 5.7% 1 1.9% 1 1.9%	0 0.0%																		
CJS-156 4 58 53 26 44.8% 18 31.0% 1 1.7% 2 3.4% 6 10.3% 3 5.2% 2 3.4% C IS 158 2 .41 .27 .17 .41.5% .11 .26% .1 .24% .2 .7.2% .2 .7.2% .1 .2.4%	0 0.0%																		
CJS-158 3 41 37 17 41.5% 11 26.8% 5 12.2% 1 2.4% 3 7.3% 3 7.3% 1 2.4% CJS-160 1 25 21 12 48.0% 3 12.0% 5 20.0% 0 0.0% 1 4.0% 4 16.0% 0 0.0%	0 0.09																		
	0 0.0%		-						-										
CJS-166 1 22 22 6 27.3% 9 40.9% 4 18.2% 1 4.5% 2 9.1% 0 0.0% 0 0.0% ECE-081 1 16 14 9 56.3% 4 25.0% 0 0.0% 1 6.3% 2 12.5% 0 0.0%	0 0.0%		-		-										-			-	
ECE-081 I IO I4 9 58.3% 4 25.0% 0 0.0% 0 0.0% I 0.3% 2 12.3% 0 0.0% ECE-083 1 20 18 12 60.0% 5 25.0% 1 5.0% 0 0.0% 0 0.0% 2 10.0% 0 0.0%			-															•	
ECE-085 1 20 18 12 80.0% 5 25.0% 1 5.0% 0 0.0% 0 0.0% 2 10.0% 0 0.0% ECE-086 1 1 1 100.0% 0 0.0% 0	0 0.00		-																
ECE-080 I </td <td>0 0.0%</td> <td></td> <td>•</td> <td></td>	0 0.0%																	•	
ECE-007 2 31 27 12 36.7% 13 41.7% 4 12.4% 0 0.0% 0 0.0% 1 3.2% 1 3.2% ECE-102 1 18 15 4 22.2% 8 44.4% 3 16.7% 0 0.0% 0 0.0% 1 5.6% 2 11.1%	0 0.09 0 0.09 0 0.09																	1	

Social Science & Education	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Rece	ived a C	Rece	ived a D	Recei	ived a F	Wit	hdrew		d by 10th Day		P's, I's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
ECE-120	1	17	16	6	35.3%	8	47.1%	2	11.8%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	0	0.0%
ECE-125	3	16	16	8	50.0%	6	37.5%	2	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
ECO-130	2	40	34	10	25.0%	13	32.5%	7	17.5%	0	0.0%	4	10.0%	5	12.5%	1	2.5%	0	0.0%
ECO-231	9	186	146	36	19.4%	47	25.3%	29	15.6%	17	9.1%	17	9.1%	33	17.7%	7	3.8%	0	0.0%
ECO-232	4	91	84	42	46.2%	28	30.8%	10	11.0%	4	4.4%	0	0.0%	5	5.5%	2	2.2%	0	0.0%
EDU-100	3	38	26	23	60.5%	0	0.0%	0	0.0%	0	0.0%	3	7.9%	8	21.1%	4	10.5%	0	0.0%
EDU-103	3	40	32	18	45.0%	10	25.0%	1	2.5%	1	2.5%	2	5.0%	5	12.5%	3	7.5%	0	0.0%
EDU-190	2	46	41	16	34.8%	14	30.4%	7	15.2%	1 0	2.2%	3	6.5%	4	8.7%	1	2.2%	0	0.0%
EDU-200 EDU-210	2	18 36	15 31	13 24	72.2% 66.7%	1	5.6% 11.1%	0	0.0%	0	0.0%	0	5.6% 0.0%	2 3	11.1% 8.3%	1	5.6% 5.6%	0	0.0%
GEO-140	2	53	46	24	47.2%	4	15.1%	3 10	8.3% 18.9%	1	0.0%	2	3.8%	3	8.3% 5.7%	4	5.6% 7.5%	0	0.0%
HED-046	2	27	19	6	22.2%	7	25.9%	4	14.8%	1	3.7%	1	3.7%	8	29.6%	0	0.0%	0	0.0%
HED-102-	5	137	114	39	28.5%	47	34.3%	15	10.9%	4	2.9%	9	6.6%	18	13.1%	5	3.6%	0	0.0%
HED-177	1	1	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%
HED-178	10	154	120	84	54.5%	23	14.9%	3	1.9%	2	1.3%	8	5.2%	29	18.8%	5	3.2%	0	0.0%
HED-179	1	16	16	7	43.8%	7	43.8%	2	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HED-200	3	70	48	14	20.0%	12	17.1%	14	20.0%	2	2.9%	6	8.6%	13	18.6%	9	12.9%	0	0.0%
HED-290	2	47	42	20	42.6%	11	23.4%	7	14.9%	1	2.1%	3	6.4%	1	2.1%	4	8.5%	0	0.0%
HIS-153	3	57	55	17	29.8%	29	50.9%	6	10.5%	0	0.0%	3	5.3%	1	1.8%	1	1.8%	0	0.0%
HIS-155	6	79	67	30	38.0%	18	22.8%	8	10.1%	1	1.3%	10	12.7%	9	11.4%	3	3.8%	0	0.0%
HIS-156	3	41	33	12	29.3%	10	24.4%	4	9.8%	2	4.9%	5	12.2%	5	12.2%	3	7.3%	0	0.0%
HIS-250	5	80	57	22	27.5%	14	17.5%	14	17.5%	2	2.5%	5	6.3%	16	20.0%	7	8.8%	0	0.0%
HIS-252	5	98	77	25	25.5%	37	37.8%	10	10.2%	3	3.1%	2	2.0%	14	14.3%	7	7.1%	0	0.0%
HSP-053	1	10	10	8	80.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HSP-054	1	10	10	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	10	100.0%
HSP-055	1	10	9	7	70.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
HSP-056	1	10	9	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	9	90.0%
HSP-065-	2	18	10	4	22.2%	1	5.6%	2	11.1%	1	5.6%	2	11.1%	6	33.3%	2	11.1%	0	0.0%
HSP-101	1	13	12	8	61.5%	3	23.1%	0	0.0%	0	0.0%	1	7.7%	0	0.0%	1	7.7%	0	0.0%
HSP-103	2	35	29	16	45.7%	8	22.9%	4	11.4%	0	0.0%	1	2.9%	5	14.3%	1	2.9%	0	0.0%
HSP-120	2	28	23	13	46.4%	3	10.7%	2	7.1%	2	7.1%	3	10.7%	3	10.7%	2	7.1%	0	0.0%
HSP-122	2	46	41	27	58.7%	7	15.2%	4	8.7%	0	0.0%	3	6.5%	3	6.5%	2	4.3%	0	0.0%
PED-141	5	74	69	69	93.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	5	6.8%	0	0.0%	0	0.0%
PED-143	1	4	2	2	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	50.0%	0	0.0%
PED-152	1	9	9	3	33.3%	5	55.6%	0	0.0%	1	11.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PED-172	—	20	20	4	20.0%	11	55.0%	3	15.0%	2	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PED-209 PED-210	1	154 31	141 26	102 0	66.2% 0.0%	6	3.9% 0.0%	4	2.6% 0.0%	0	0.0% 0.0%	29 5	18.8% 16.1%	13 5	8.4% 16.1%	0	0.0%	0 21	0.0%
PED-210 PED-244	2	29	20	2	6.9%	12	41.4%	13	44.8%	2	6.9%	0 0	0.0%	0	0.0%	0	0.0%	0	07.7%
PED-244 PED-285	1	29	29	6	25.0%	12	41.4%	3	44.8%	0	0.9%	1	4.2%	2	8.3%	2	8.3%	0	0.0%
PED-285 PHI-232	1	24	20	12	42.9%	10	41.7% 39.3%	4	12.5%	1	3.6%	0	4.2%	2	0.0%	2	0.0%	0	0.0%
PHI-232	1	20	25	9	31.0%	8	27.6%	3	10.3%	2	6.9%	3	10.3%	4	13.8%	0	0.0%	0	0.0%
PHI-270	3	85	70	45	52.9%	16	18.8%	3	3.5%	1	1.2%	5	5.9%	7	8.2%	8	9.4%	0	0.0%
PHI-290	2	57	54	24	42.1%	19	33.3%	5	8.8%	3	5.3%	3	5.3%	1	1.8%	2	3.5%	0	0.0%
POS-160	8	168	160	101	60.1%	33	19.6%	7	4.2%	3	1.8%	16	9.5%	6	3.6%	2	1.2%	0	0.0%
POS-162	3	36	32	7	19.4%	8	22.2%	6	16.7%	3	8.3%	8	22.2%	4	11.1%	0	0.0%	0	0.0%
POS-264	1	13	13	9	69.2%	3	23.1%	0	0.0%	0	0.0%	1	7.7%	0	0.0%	0	0.0%	0	0.0%
PSY-271	18	428	331	122	28.5%	95	22.2%	52	12.1%	14	3.3%	48	11.2%	70	16.4%	27	6.3%	0	0.0%
PSY-273	3	66	56	23	34.8%	13	19.7%	11	16.7%	3	4.5%	6	9.1%	8	12.1%	2	3.0%	0	0.0%
PSY-274	3	77	56	32	41.6%	8	10.4%	9	11.7%	3	3.9%	4	5.2%	13	16.9%	8	10.4%	0	0.0%
PSY-275	2	35	27	16	45.7%	8	22.9%	2	5.7%	1	2.9%	0	0.0%	2	5.7%	6	17.1%	0	0.0%

Social Science & Education	Total Number of	Total Enrollment	Total Enrollment	Receiv	ved an A	Recei	ved a B	Recei	ved a C	Recei	ved a D	Recei	ved a F	With	drew		d by 10th Day		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
PSY-277	3	74	64	23	31.1%	15	20.3%	18	24.3%	5	6.8%	3	4.1%	7	9.5%	3	4.1%	0	0.0%
PSY-278	5	122	95	46	37.7%	19	15.6%	16	13.1%	5	4.1%	9	7.4%	18	14.8%	9	7.4%	0	0.0%
PSY-279	8	169	139	79	46.7%	27	16.0%	19	11.2%	6	3.6%	8	4.7%	24	14.2%	6	3.6%	0	0.0%
SFS-101	9	172	130	62	36.0%	26	15.1%	14	8.1%	6	3.5%	22	12.8%	33	19.2%	9	5.2%	0	0.0%
SFS-102-	1	26	16	13	50.0%	1	3.8%	0	0.0%	1	3.8%	1	3.8%	9	34.6%	1	3.8%	0	0.0%
SLN-200	3	8	4	4	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	50.0%	0	0.0%	0	0.0%
SOC-280	2	59	56	47	79.7%	7	11.9%	1	1.7%	1	1.7%	0	0.0%	3	5.1%	0	0.0%	0	0.0%
SOC-284	1	13	12	3	23.1%	5	38.5%	2	15.4%	0	0.0%	2	15.4%	0	0.0%	1	7.7%	0	0.0%
SOC-286	1	17	17	4	23.5%	4	23.5%	4	23.5%	1	5.9%	4	23.5%	0	0.0%	0	0.0%	0	0.0%
SOS-050	2	34	29	10	29.4%	4	11.8%	11	32.4%	1	2.9%	3	8.8%	4	11.8%	1	2.9%	0	0.0%
SOS-235	2	23	21	15	65.2%	5	21.7%	0	0.0%	0	0.0%	1	4.3%	2	8.7%	0	0.0%	0	0.0%
Total FY2015	488	8949	7443	3606	40.3%	1904	21.3%	988	11.0%	293	3.3%	562	6.3%	1033	11.5%	473	5.3%	90	1.0%

Technology	Total Number of	Total Enrollment	Total Enrollment	Recei	ved an A	Recei	ved a B	Recei	ived a C	Rece	ved a D	Recei	ved a F	With	ndrew		d by 10th Day		P's, l's, or U's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Technology		•	-													•		•	
Summer 2014	26	168	158	61	36.3%	38	22.6%	13	7.7%	7	4.2%	11	6.5%	9	5.4%	1	0.6%	28	16.7%
AUT-054	1	11	10	1	9.1%	6	54.5%	3	27.3%	0	0.0%	0	0.0%	1	9.1%	0	0.0%	0	0.0%
AUT-075	3	12	12	12	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CAD-056	1	9	9	6	66.7%	1	11.1%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	0	0.0%	0	0.0%
CAD-057	1	4	3	1	25.0%	1	25.0%	1	25.0%	0	0.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%
CAD-059	1	5	5	3	60.0%	2	40.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CAD-075	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-075	1	7	7	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	7	100.0%
CET-076	1	5	5	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	5	100.0%
CET-079	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CIM-060	1	14	13	5	35.7%	5	35.7%	2	14.3%	0	0.0%	1	7.1%	0	0.0%	1	7.1%	0	0.0%
EET-053	1	4	3	2	50.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%
EET-064	1	4	3	1	25.0%	1	25.0%	1	25.0%	0	0.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%
EET-068	1	6	6	1	16.7%	2	33.3%	1	16.7%	2	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MTT-050	1	10	10	6	60.0%	2	20.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
PLC-040	1	2	2	1	50.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%
PPT-075	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-039	1	17	17	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	0	0.0%	16	94.1%
TEC-040	1	13	13	1	7.7%	5	38.5%	2	15.4%	3	23.1%	2	15.4%	0	0.0%	0	0.0%	0	0.0%
TEC-043	1	8	/	3	37.5%	2	25.0%	0	0.0%	0	0.0%	2	25.0%	1	12.5%	0	0.0%	0	0.0%
TEC-048		14	12	4	28.6%	6	42.9%	0	0.0%	1	7.1%	1	7.1%	2	14.3%	0	0.0%	0	0.0%
TEC-055	2	6	5 9	3	50.0%	2	33.3%	0	0.0%	0	0.0%	0	0.0%	1	16.7% 10.0%	0	0.0%	0	0.0%
WEL-057 WEL-074	1	10		4	40.0%	3	30.0%	0	0.0%	-		2		1		0		-	
	1	3	3	3	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	-	0.0%	0	0.0%
Fall 2014	103	1287	1094	439 9	34.1%	347	27.0%	163	12.7%	66	5.1%	53	4.1%	132	10.3%	61	4.7% 18.6%	26	2.0%
AUT-048 AUT-050	2	43 30	31 24	7	20.9% 23.3%	10 8	23.3% 26.7%	9	20.9% 23.3%	2	4.7%	1	2.3%	4	9.3%	8 5	16.7%	0	0.0%
AUT-050 AUT-051	2	30	24	2	6.5%	7	20.7%	7	23.3%	5	3.3%	1	3.3%	2	6.5%	5	22.6%	0	0.0%
AUT-051 AUT-059	∠ 1	12	11	2	16.7%	5	41.7%	4	33.3%	0	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
AUT-080	1	12	11	2	8.3%	8	66.7%	4	0.0%	2	16.7%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
AUT-081	1	12	11	2	16.7%	9	75.0%	0	0.0%	2	0.0%	0	0.0%	1	8.3%	0	0.0%	0	0.0%
BCT-045	1	20	15	3	15.0%	9	45.0%	2	10.0%	1	5.0%	0	0.0%	5	25.0%	0	0.0%	0	0.0%
BCT-045	1	20	17	9	40.9%	4	18.2%	3	13.6%	0	0.0%	1	4.5%	4	18.2%	1	4.5%	0	0.0%
BCT-064	1	3	3	2	66.7%	1	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CAD-056	2	31	26	12	38.7%	7	22.6%	3	9.7%	3	9.7%	1	3.2%	2	6.5%	3	9.7%	0	0.0%
CAD-057	1	8	6	4	50.0%	2	25.0%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	1	12.5%	0	0.0%
CAD-058	1	19	17	10	52.6%	6	31.6%	0	0.0%	0	0.0%	1	5.3%	2	10.5%	0	0.0%	0	0.0%
CAD-060	1	8	7	4	50.0%	3	37.5%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
CAD-075	1	1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-051	1	10	10	5	50.0%	3	30.0%	1	10.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%
CET-052	1	10	9	8	80.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
CET-054	1	10	9	5	50.0%	2	20.0%	2	20.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
CET-060	1	8	8	4	50.0%	1	12.5%	0	0.0%	2	25.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%
CET-062	1	9	9	8	88.9%	1	11.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-077	1	6	6	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
CET-082	1	11	9	4	36.4%	1	9.1%	3	27.3%	1	9.1%	0	0.0%	1	9.1%	1	9.1%	0	0.0%
	1	18	18	4	22.2%	10	55.6%	3	16.7%	0	0.0%	1	5.6%	0	0.0%	0	0.0%	0	0.0%
CIM-044				4	ZZ.Z/0	10	33.070			0	0.070								
CIM-044 CIM-092	1	20	17	8	40.0%	8	40.0%	0	0.0%	0	0.0%	1	5.0%	3	15.0%	0	0.0%	0	0.0%

Technology	Total Number of	Total Enrollment	Total Enrollment	Receiv	/ed an A	Recei	ved a B	Rece	ved a C	Rece	ived a D	Rece	ved a F	With	ndrew		d by 10th Day		P's, l's, or J's
Division	Course Sections	Beginning of Term	End of Term	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
EET-048	1	5	5	3	60.0%	2	40.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-050	2	29	24	4	13.8%	6	20.7%	10	34.5%	4	13.8%	0	0.0%	5	17.2%	0	0.0%	0	0.0%
EET-056	1	20	16	8	40.0%	3	15.0%	3	15.0%	2	10.0%	0	0.0%	3	15.0%	1	5.0%	0	0.0%
EET-060	2	29	24	14	48.3%	2	6.9%	4	13.8%	2	6.9%	2	6.9%	4	13.8%	1	3.4%	0	0.0%
EET-072	1	14	13	12	85.7%	0	0.0%	0	0.0%	0	0.0%	1	7.1%	1	7.1%	0	0.0%	0	0.0%
EET-078	1	5	5	3	60.0%	1	20.0%	0	0.0%	1	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-081	1	2	2	1	50.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-086	2	22	20	8	36.4%	6	27.3%	4	18.2%	1	4.5%	1	4.5%	2	9.1%	0	0.0%	0	0.0%
HVC-060	1	13	11	1	7.7%	7	53.8%	1	7.7%	1	7.7%	1	7.7%	2	15.4%	0	0.0%	0	0.0%
HVC-062	1	13	11	7	53.8%	2	15.4%	2	15.4%	0	0.0%	0	0.0%	2	15.4%	0	0.0%	0	0.0%
HVC-064	1	13	11 11	2	15.4%	4	30.8%	4	30.8%		7.7%	0	0.0%	2	15.4%	0	0.0%	0	0.0%
HVC-068 IND-042	1	13 17		3	23.1%	5	38.5%	3	23.1%	0	0.0%	0	0.0%	2	15.4% 5.9%	0	0.0%	0	0.0%
IND-042	1	9	16 8	11 3	64.7% 33.3%	4	23.5% 55.6%	1	5.9% 0.0%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	0	0.0%
IND-043	2	32	29	3 9	28.1%	5 17	53.1%	2	6.3%	0	0.0%	1	3.1%	3	9.4%	0	0.0%	0	0.0%
IND-044	2 1	6	6	4	66.7%	1	16.7%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
IND-048	1	2	2	4	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MET-040	2	24	20	15	62.5%	2	8.3%	3	12.5%	0	0.0%	0	0.0%	3	12.5%	1	4.2%	0	0.0%
MET-040	2	20	20	17	85.0%	1	5.0%	1	5.0%	1	5.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MTT-050	2	17	13	5	29.4%	2	11.8%	4	23.5%	2	11.8%	0	0.0%	3	17.6%	1	5.9%	0	0.0%
PLC-040	1	3	3	0	0.0%	2	66.7%	0	0.0%	0	0.0%	1	33.3%	0	0.0%	0	0.0%	0	0.0%
TEC-039	2	19	19	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	19	100.0%
TEC-040	3	53	41	10	18.9%	14	26.4%	12	22.6%	4	7.5%	1	1.9%	10	18.9%	2	3.8%	0	0.0%
TEC-043	2	40	34	15	37.5%	18	45.0%	0	0.0%	0	0.0%	1	2.5%	5	12.5%	1	2.5%	0	0.0%
TEC-045	1	19	16	4	21.1%	6	31.6%	3	15.8%	0	0.0%	3	15.8%	1	5.3%	2	10.5%	0	0.0%
TEC-048	7	126	99	31	24.6%	27	21.4%	24	19.0%	11	8.7%	6	4.8%	13	10.3%	14	11.1%	0	0.0%
TEC-050	3	50	45	20	40.0%	12	24.0%	5	10.0%	3	6.0%	5	10.0%	2	4.0%	3	6.0%	0	0.0%
TEC-052	3	48	38	12	25.0%	15	31.3%	3	6.3%	6	12.5%	2	4.2%	8	16.7%	2	4.2%	0	0.0%
TEC-054	1	10	10	8	80.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-055	1	5	3	1	20.0%	0	0.0%	2	40.0%	0	0.0%	0	0.0%	2	40.0%	0	0.0%	0	0.0%
TEC-056	2	5	5	3	60.0%	1	20.0%	1	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-057	1	8	7	4	50.0%	1	12.5%	0	0.0%	0	0.0%	2	25.0%	1	12.5%	0	0.0%	0	0.0%
TEC-060	2	17	14	2	11.8%	9	52.9%	2	11.8%	1	5.9%	0	0.0%	2	11.8%	1	5.9%	0	0.0%
TEC-063	1	6	5	4	66.7%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	16.7%	0	0.0%
TEC-064	1	6	6	5	83.3%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-067	1	4	4	4	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-068	1	2	2	2	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-070	2	39	35	9	23.1%	15	38.5%	5	12.8%	4	10.3%	2	5.1%	4	10.3%	0	0.0%	0	0.0%
TEC-103	2	42	36	22	52.4%	7	16.7%	4	9.5%	1	2.4%	2	4.8%	4	9.5%	2	4.8%	0	0.0%
WEL-048		1	1	1	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
WEL-055	1	10	9	3 10	30.0%	2	20.0% 25.0%	0	0.0%	2	20.0%	2	20.0%	1	10.0%	0	0.0%	0	0.0%
WEL-056 WEL-057	5	16 58	15 51	10	62.5% 27.6%	4 23	25.0%	0	0.0%	0	0.0%	4	6.3%		6.3% 10.3%	0	0.0%	0	0.0%
WND-040	5	58 9	8	5	27.6% 55.6%	23	<u>39.7%</u> 11.1%	6	0.0%	1	11.1%	4	6.9%	6 0	0.0%	1	11.1%	1	0.0%
Spring 2015	131	9 1302	8 1200	5 536	41.2%	394	30.3%	178	13.7%	52	4.0%	28	2.2%	81	6.2%	21	1.6%	12	0.0%
AUT-051	131	7	7	1	14.3%	2	28.6%	3	42.9%	1	4.0%	28	0.0%	0	0.2%	0	0.0%	0	0.9%
AUT-052	2	27	21	8	29.6%	5	18.5%	2	7.4%	2	7.4%	4	14.8%	5	18.5%	1	3.7%	0	0.0%
AUT-053	2	25	20	4	16.0%	8	32.0%	4	16.0%	1	4.0%	3	12.0%	4	16.0%	1	4.0%	0	0.0%
AUT-076	1	14	14	4	28.6%	6	42.9%	4	28.6%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
AUT-082	1	14	11	2	14.3%	8	57.1%	4	7.1%	0	0.0%	0	0.0%	2	14.3%	1	7.1%	0	0.0%
AUT-083		12	12	1	8.3%	5	41.7%	6	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%

Technology Division	Total Number of Course Sections	Total Enrollment Beginning of Term	Total Enrollment End of Term	Received an A		Received a B		Received a C		Received a D		Received a F		Withdrew		Dropped by 10th Day		# with P's, I's, or U's	
				#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
AUT-089	2	12	12	4	33.3%	2	16.7%	6	50.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BCT-062	1	10	8	3	30.0%	4	40.0%	1	10.0%	0	0.0%	0	0.0%	2	20.0%	0	0.0%	0	0.0%
BCT-070	1	6	6	3	50.0%	1	16.7%	1	16.7%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BCT-076	1	3	3	0	0.0%	2	66.7%	1	33.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
BCT-089	1	9	8	1	11.1%	4	44.4%	2	22.2%	1	11.1%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
CAD-056	3	40	37	13	32.5%	14	35.0%	8	20.0%	1	2.5%	1	2.5%	3	7.5%	0	0.0%	0	0.0%
CAD-057	1	17	13	8	47.1%	3	17.6%	0	0.0%	2	11.8%	0	0.0%	1	5.9%	3	17.6%	0	0.0%
CAD-059	1	10	9	6	60.0%	2	20.0%	0	0.0%	1	10.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
CAD-061	1	4	4	3	75.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CAD-062	1	8	8	5	62.5%	1	12.5%	2	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CAD-075	2	9	8	8	88.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	11.1%	0	0.0%
CET-056	1	11	11	6	54.5%	2	18.2%	3	27.3%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-057	1	8	8	5	62.5%	2	25.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-060	1	10	9	3	30.0%	4	40.0%	2	20.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
CET-064	1	9	9	1	11.1%	6	66.7%	2	22.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-065	1	7	7	7	100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-078	1	6	6	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
CET-081	1	9	9	7	77.8%	2	22.2%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
CET-087	1	10	10	3	30.0%	2	20.0%	3	30.0%	2	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-040	1	11	9	1	9.1%	3	27.3%	5	45.5%	0	0.0%	0	0.0%	2	18.2%	0	0.0%	0	0.0%
EET-050	1	9	7	0	0.0%	1	11.1%	5	55.6%	0	0.0%	1	11.1%	1	11.1%	1	11.1%	0	0.0%
EET-052	1	8	8	3	37.5%	2	25.0%	2	25.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%
EET-060	1	17	16	9	52.9%	3	17.6%	3	17.6%	0	0.0%	1	5.9%	1	5.9%	0	0.0%	0	0.0%
EET-061	1	7	6	2	28.6%	4	57.1%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%	0	0.0%
EET-066	1	11	10	6	54.5%	1	9.1%	1	9.1%	0	0.0%	2	18.2%	0	0.0%	1	9.1%	0	0.0%
EET-068	1	5	5	1	20.0%	3	60.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	20.0%
EET-069	1	10	9	3	30.0%	5	50.0%	0	0.0%	0	0.0%	1	10.0%	0	0.0%	1	10.0%	0	0.0%
EET-075	2	13	13	12	92.3%	0	0.0%	1	7.7%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-076	1	8	8	0	0.0%	5	62.5%	2	25.0%	1	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-080	1	4	4	1	25.0%	2	50.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-085	1	4	4	3	75.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
EET-087	2	17	16	8	47.1%	3	17.6%	4	23.5%	0	0.0%	1	5.9%	1	5.9%	0	0.0%	0	0.0%
HVC-066	1	10	10	2	20.0%	4	40.0%	3	30.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%
HVC-070	1	10	10	6	60.0%	2	20.0%	2	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HVC-072	1	10	10	3	30.0%	6	60.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
HVC-074	1	10	10	5	50.0%	4	40.0%	1	10.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
IND-043		16	15	9	56.3%	4	25.0%	2	12.5%	0	0.0%	0	0.0%	0	0.0%	1	6.3%	0	0.0%
IND-044	2	17	16	5	29.4%	6	35.3%	4	23.5%		5.9%	0	0.0%	1	5.9%	0	0.0%	0	0.0%
IND-052	2	25	23	16	64.0%	3	12.0%	3	12.0%	0	0.0%	0	0.0%	2	8.0%	0	0.0%	1	4.0%
IND-054		17	16	9	52.9%	5	29.4%	0	0.0%		5.9%	0	0.0%	1	5.9%	0	0.0%	1	5.9%
IND-062	1	4	3		25.0%	2	50.0%	0	0.0%	0	0.0%	0	0.0%	1	25.0%	0	0.0%	0	0.0%
MET-042		1	1	0	0.0%	0	0.0%	0	0.0%		100.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
MET-043	2	29	29	15	51.7%	10	34.5%	1	3.4%	2	6.9%		3.4%	0	0.0%	0	0.0%	0	0.0%
MET-045	1	11	9	3	27.3%	4	36.4%	1	9.1%		9.1%	0	0.0%	1	9.1%	1	9.1%	0	0.0%
MET-076	1		10	0	0.0%	0	0.0%	0	0.0%	0	0.0%	-	0.0%	Ŭ	0.0%	-	0.0%		100.0%
MET-080		15	13	3	20.0%	8	53.3%	2	13.3%	0	0.0%	0	0.0.0	2	13.3%	0	0.0%	0	0.0%
MET-084 MTT-050	2	20	19 24	5 2	25.0%	9 9	45.0%	4	20.0%	2	5.0%	0	0.0%	1	5.0% 3.8%	0	0.0%	0	0.0%
		26				9	34.6%		42.3%	2	7.7%	0						-	
PLC-040	1	3	2	1	33.3%		33.3%	0	0.0%	0		0	0.0%	0	0.0%	1	33.3%	0	0.0%
TEC-040	2	25	16	4	16.0%	8	32.0%	4	16.0%	0	0.0%	0	0.0%	-	36.0%	0	0.0%	0	0.0%
TEC-043	6	67	61	38	56.7%	22	32.8%		1.5%	0	0.0%	0	0.0%	5	7.5%		1.5%	0	0.0%

Technology Division	Total Number of Course Sections	Total Enrollment Beginning of Term	Total Enrollment End of Term	Received an A		Received a B		Received a C		Received a D		Received a F		Withdrew		Dropped by 10th Day		# with P's, I's, or U's	
				#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
TEC-045	1	10	9	5	50.0%	1	10.0%	1	10.0%	2	20.0%	0	0.0%	1	10.0%	0	0.0%	0	0.0%
TEC-046	2	14	14	11	78.6%	2	14.3%	1	7.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-047	2	14	14	9	64.3%	4	28.6%	1	7.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-048	5	49	42	14	28.6%	21	42.9%	3	6.1%	3	6.1%	1	2.0%	5	10.2%	2	4.1%	0	0.0%
TEC-049	2	14	14	9	64.3%	4	28.6%	1	7.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-050	2	10	10	2	20.0%	5	50.0%	1	10.0%	2	20.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-051	2	14	14	13	92.9%	0	0.0%	1	7.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-052	2	11	11	3	27.3%	1	9.1%	5	45.5%	1	9.1%	1	9.1%	0	0.0%	0	0.0%	0	0.0%
TEC-054	2	35	35	16	45.7%	12	34.3%	6	17.1%	1	2.9%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
TEC-055	6	54	50	23	42.6%	10	18.5%	10	18.5%	7	13.0%	0	0.0%	4	7.4%	0	0.0%	0	0.0%
TEC-056	1	20	19	6	30.0%	4	20.0%	3	15.0%	6	30.0%	0	0.0%	1	5.0%	0	0.0%	0	0.0%
TEC-080	1	15	14	3	20.0%	7	46.7%	4	26.7%	0	0.0%	0	0.0%	1	6.7%	0	0.0%	0	0.0%
TEC-090	4	52	48	22	42.3%	9	17.3%	10	19.2%	7	13.5%	0	0.0%	4	7.7%	0	0.0%	0	0.0%
TEC-103	1	10	9	4	40.0%	3	30.0%	1	10.0%	0	0.0%	1	10.0%	1	10.0%	0	0.0%	0	0.0%
WEL-047	2	26	24	11	42.3%	10	38.5%	2	7.7%	0	0.0%	1	3.8%	1	3.8%	1	3.8%	0	0.0%
WEL-048	2	24	19	14	58.3%	4	16.7%	1	4.2%	0	0.0%	0	0.0%	4	16.7%	1	4.2%	0	0.0%
WEL-053	1	9	8	3	33.3%	5	55.6%	0	0.0%	0	0.0%	0	0.0%	1	11.1%	0	0.0%	0	0.0%
WEL-054	1	8	7	0	0.0%	7	87.5%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
WEL-055	1	7	6	5	71.4%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%	0	0.0%
WEL-056	2	22	20	14	63.6%	5	22.7%	0	0.0%	0	0.0%	1	4.5%	0	0.0%	2	9.1%	0	0.0%
WEL-057	7	68	63	27	39.7%	25	36.8%	6	8.8%	0	0.0%	5	7.4%	5	7.4%	0	0.0%	0	0.0%
WEL-058	1	17	17	9	52.9%	8	47.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
WEL-059	1	16	16	4	25.0%	10	62.5%	2	12.5%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%
WEL-060	1	8	7	4	50.0%	3	37.5%	0	0.0%	0	0.0%	0	0.0%	1	12.5%	0	0.0%	0	0.0%
WEL-061	2	19	19	12	63.2%	5	26.3%	1	5.3%	0	0.0%	1	5.3%	0	0.0%	0	0.0%	0	0.0%
WND-041	1	9	9	4	44.4%	2	22.2%	1	11.1%	1	11.1%	0	0.0%	0	0.0%	0	0.0%	1	11.1%
WND-042	1	9	9	7	77.8%	1	11.1%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	11.1%
Total FY2015	260	2757	2452	1036	37.6%	779	28.3%	354	12.8%	125	4.5%	92	3.3%	222	8.1%	83	3.0%	66	2.4%